179 Cross Street, Suite A
San Luis Obispo, CA 93401
(805) 781-4472 Fax (805) 781-1291

REGIONAL TRANSIT AUTHORITY www.slorta.org

Addendum #2: Final Questions and Clarifications on IFB

Construction Services for Transit Center Improvements
October 24, 2019

Q1: Arethe 2 bike racks and bike repair station supplied? If not is the any details and or
specifications available?

Al: No, the two bike racks and bike repair station must be supplied by the general
contractor. The Manufacturer’s Information Packet that includes cut-sheets for the four
passenger shelters, two bike racks (sample from Peak Racks), bike repair station (sample from
Dero Fixit), LED signs, ticket vending machine, etc. are attached to this addendum.

Q2: Is the quantity for the bike racks correct at (4)?
A2: No, the general contractor will remove and dispose of the two existing bike racks, and
install two new bike racks. See Drawing No. C2.1 for details.

Q3:  Will there be a bid item for Demo of existing structures?
A3: Bid Item 5A has been added. Please utilized the revised Bid Form. Contactor to remove
and dispose of all existing structures identified on Drawing C2.1.

Q4:  Will specs and details be available for the owner provided equipment?
A4:  Please see the attached Manufacturer’s Information Packet.

Q5: Areliquidated damages included in this procurement?
A5: Liquidated Damages will be assessed at S500 per the specification.

Q6: The Bid Item description for SWPPP states we are to develop a SWPPP. | assume this is
not the case but please clarify that based on the size and scope of project that a
SWPPP/NOI/WDID are not required.

A6: A SWPPP will not be required but the Contractor will be required to implement BMPs to
address stormwater runoff.

Q7: Please provide an engineer’s estimate (If not we will need to base our bid bond on a
price that could vary greatly from our actual bid).

A7: As indicated in Addendum #1, the Engineer’s Estimate is $158,000, not including
permitting, testing or inspection fees.

The Regional Transit Authority is a Joint Powers Agency serving residents and visitors of:

Arroyo Grande Atascadero Grover Beach Morro Bay Paso Robles Pismo Beach San Luis Obispo and The County of San
Luis Obispo


http://www.slorta.org/

Q8: Please confirm that only sheets 169-178 should be returned with our bid. No additional
sheets are required to be turned in on bid day.

A8: Yes, pages 169-178 should be submitted, as well as the upper half of page 194 under the
“DBE UTILIZATION FORM” section. The successful bidder will be required to clarify and re-submit
page 194 in its entirety as part of the Agreement with the RTA beginning on page 179.

Q9: Isan SWPPP QSP necessary for this size of project?
A9: See answer to question #6 above.

Q10: What is the specification/ manufacturer on bike rack?
A10: See the answer to question #1 above.

Q11: Whatis the specification/ manufacturer on bike repair station?
All: See the answer to question #1 above.

Q12: Confirm that construction permit is by RTA and GC is only responsible for the
encroachment permit.
Al2: Thatis correct.

Q13: The scale appears to be off on the plans. Sheet C2.1 states the scale is 1"=10" however if
| scale a dimensioned item on the plans it is clearly at 1"=5'. Which is noted on Sheet C2.2.
Please confirm.

Al13: That is correct — the scale on page C2.1 should show 1”=5’,

Additional Information
Please find attached the License Agreement between the RTA and the County. This defines the

working relationship between the RTA and the County. Contractor to complete project in
accordance with this agreement.

Page 2 of 5



Potential DBE Firms

Wod'|lews @UoNINIISUODIBAOP LELE6
WI02°[IBWIOY @ ZXSSEW ‘W02’ [IBWIOY @IXSSBW /7/E6
wo02°03uoINJIISUCIWNIUENb @ 010S pIARP 7ZLE6
wod3Mjouse@Y3!qqep TTLE6
wod-ouledplgpuesS@epelinows ‘wodduledplqpuesd@zalezuodl TT/E6
INOD'AYNOSYWINOLSHDOT1ENDIIHE @ AIAYVH YOLEE
wo02°3)1|0M3|e@dsoled (w0l Alajesiayesuny@Halq9ad €0LE6
wod'joe@spue|oide||aq £L59E6

wod’|lewS @02 epueap 8E9EH

wodoulepesdauy@Apnl TSSE6

W 02°A19)BSI14}BI1ISROD|BIIUSI @ 3SO[ 8SHER
wod’'|oe@OdUulesoss ySye6

wod'|lews®@eEzDBUBIP (WO’ |lewS@SuBPniIzu 9ves
wod uonanisuodsueliojAer@sidue yryEe

18U IapeP @ [dIUBPY YYYES

W02'3U0-1INIIS@[FBYIW ZHES

Wo2'1s8J8@3dMY0 TriE6

13U°UOI1INJIISUOIB[IAB @3 IW 32U UOIINIISUOIR|INE®)3I||9Y ETVE6
W02°21y4eI1B|INR@D||9Y €TVEE

wod ooyeA@ieydsespuowpa 90v<6
W02°UO[1dNJISUOISIARYIS @1I9) SOVEE

wW0d°d102N[@MIIU YBEEE
wo2°00YyeA@EQOZIIYd 21udanb yTEEH

wod asidiaua-unsne@unsned y1EE6

wod i eq@dulAluosewauolswas ZTEE6

wod ooyeA@3uinedpueluipesduolsaid 80EE6
W02°UoI1dNIISU0IYd21Ng@SUnUNodde OEEE
wo2eydseauoysyoe|q@ojul 80EE6

19U’ |eqo[82qs@2||UBdPUINIBW EQEEE
wodyeydsezasad @A) TOEE6

wod Alajeson@dAies 167€6

WOD TIVINO@INIOVYLS] T6TE6

wod’joe@iuawdinba|q £/7€6
wod’|1lewS @ 02014309|301}10ed1SaM SHZE6

\ ]
A
A
Vo
A
Vo
\e
\ ]
A0
A
Vo
A
A
\e
A
A
Ao
Vo
A
Vo
A
Ao
A
A
A
A
A
V2
Ao
Vo
\ ]
A
A
Vo

lews  diz axess

ONS3Y4
ONS3¥4
ONS3Y4
ONS3¥4
ONS3¥4
ONS3¥4
ONS3¥4
4IONVS

VY3AVN
JIVANTVd
VI¥VIA VINVS
VIYVIA VINVS
$31904 0Svd
OWOdIN
OWOdIN

AVE OYYOW
AVE OYYOW
0¥3QVISVLY
04¥3QVISVLY
0ds190 SINTNVYS
0dSI180 SINTNVS
Q1314543)va
Q1314SYIIve
Q1314543va
Q1314S¥IIve
Q1314S43va
Q1314543ve
Q1314SYIve
Q1314543Nve
Q1314S¥IIve
VIVSIA
VIVSIA
VIVSIA
JYOOWTT
Ao

3AINO "3 19¥8

INNIAV WVHAHOS "N vZSc
OvT # IAI4A NIAHVDI4 HLYON €809
13341S 9 S6LET

3IAV AOOMHD339 M 80ZC
AVM X3SSNS 3 ¢8

JAV AY3INIM N 0Z0T
JIVAVNNY "3 0ZST
JNNIAV IAHIN LV9LE

dd VISIA 01310 62LTY
JNNIAV NNAT33L 95€T

V LINN ‘N7 43)SI38d £00T
av0yd 138VSA Id10A STv
¥a vznos LTy

NTIANDS a3d 246

JNN3AV AFYILNON 085
AavO0Y )3340 O¥O0L 6¥LT
€109 X049 'O'd

Tz X04d 0d

€¢# INVINO0TING 00S€
€2 1S ‘aV0Y AITIVA SOSO SO1S¥STT
SOTTY X04 '0O'd

NT a3¥dln L10€

avod MONS TZvel

INV1 00494301V €0¥9
INNIAV IOVEHSI4 8049

S9 AMH ST88T

INNIAV ONINOLNV CTTE
9057 X04 '0O'd

g 31INS 13341S MVO 9evT
M3IIAANNNS LSIM TZ8L
JAV INIA M SE8S

14N0J AYY3IHD "M S2LT
JNN3AV ITVANITO M TL00C
SSaJIppyY

"ONI ‘NOILONYLSNOD ITVAOQ 3AILS L880Y
“ONI X SSVIN STL6E
ANVdINOD NOILDNYLSNOD WNLNVND EvLIY
ONI ‘3LM-0-1¥31V SYEIT
ONI 3950148 ANVYO T6LSY
AYINOSVIA INOLS B 32018 XD1d9 68LSY
ONI'NOIS 8 AL34VS YINVSNNH LEE6T
OSN3 ONIdVISANV1 ANV NOILONYLSNOD OI9V1134 ve9LE
ANVdNOD VANV 30 9565€

"ONI ‘IN3INdIND3 3aV¥9 INIH ZS6Y
"ONI ‘AL34VS DI44VHL 1SVOD TVHINID 696€EY
ONI‘NOILONYLSNOD VSOS 9O vrere
"ONI ‘ONININYL B ONILVAVIX3I ZLIYN YET6E
d1NOILONYLSNOD INVI HOTAVL T6vTy
"ONI ‘NOILONYLSNOD ILIY-IAVd ¥90Z€E
ONI ‘NOILONYLISNOD '8 ONIYIINIONT INO LONYLS S98TY
ONI ‘SNOS ANV VID¥V9 4 O vrL0v
NOILVHOdY0D NOILONYLSNOD VIIAV "3 "W 8808¢
AL134VS D144VHL VIIAV TZEBE
JONVNILINIVIA LTVHdSY SONOWNQ3I 2098E
ONI ‘NOILINYLSNOD SIAVHD 'S ¥667€
ANVdINOD SIHYOL T Z65TE
ONI‘NOILDNYLSNOD A0S LESEE
"ONI ‘S31LTVID3dS ONIANIYO VINYOLIMYD Z09ET
ONI ‘AYNOSYIN INOLSINID S9ZLE
ONIAVd 8 ONIAVYO NOISIDIYd CT6TY
NOILONYLSNOD HOLYNG TL9CY
"ONI‘NOILONYLSNOD L1VHASY INOLS MOV19 2Z68E
J71‘dN0OY¥S NOILINYLSNOD AITIVA NINDVOT NVS S9STY
ALTNOILONYLSNOD L1VHASY Z3d3d T088E

ONI 0D ALIAVS D U M Lvy

ONIY3I3INIONI NOVYHL LSVH 9SESY
A1ddNS ANV TVLN3Y LNINGINDI 19 ¥6¥9€
ANVdINOD J14.12313 D14I0Vd LSIM €8LTY

sweN vad

aj w4

Page 3 of 5



Name

Scott Zimmerman
Jesse Bishop
Steve Souza
Rudy Bachmann
Pat Stanhope
Tom Maino

Tom Ehlers

Eric Wildhagen

Company

SWRCC

CalPortland

Souza Construction
SCI

A-Jay Excavating
Maino Construction
Columbia Builders
Granite

Bidder’s List

Email address
SZimmerman@swcarpenters.org
jbishop@calportland.com
ssouza@souzaconstructioninc.com
rbachmann@specialtyconstruction.com
patricks@a-jay.com

tomm@mainoslo.com
tom.ehlers99@gmail.com

Wildhagen, Eric <Eric.wildhagen@gcinc.com>

Page 4 of 5



Page 5 of 5



réia

REGIONAL TRANSIT AUTHORITY

Manufacturer’s Information Packet
For
RTA Transit Center Improvements
Osos Street and Palm Street

San Luis Obispo, CA 93401

10/23/2019



125 11/16"

8 2 | 1
Parts List
ITEM|QTY|PART NUMBER| DESCRIPTION
- 13 1 |30822-00 17' VOYAGER ROOF ASSY.
1 |36 |1002010P PAINTED FINISHING PLUG 5/8 STEEL
3 6 |16841-00 ROOF PRESSURE RIB WITH BATTEN
5 5 |16875-00 ROOF PANEL ALUM.
4 2 |16874-00 Z CHANNEL EXTRUSION
1 1 |30655-00 SIGN BRACKET
12 | 2 |30660-00 MOUNTING BRACKET WELD.
9 1 |30533-00 ‘POST ASSY. WITH ELECTRICAL ACCESS
10 | 2 |30560-00 ‘POST WELDMENT
6 2 [19603-00 BENCH SEAT WELDMENT - ARM REST
7 1 |19604-00 BENCH SEAT WELDMENT
© 8 1 |19655-00 SUPPORT CHANNEL WELDMENT
S 2 1 |1106040 BIT, TORX T-27, TAMPER-PRUF FOR TORX
2 4
14 | 12 (8013025 ANCHOR BOLT, J-HOOK, 1/2"-13 X 12",
J-HOOK OPENING HOT DIPPED GALVANIZED
15 | 16 |8086115 BOLT, 3/8-16 x 1" HEX HEAD, STN STL.
16 | 12 |8086302 3/8-16 X 3" HD BOLT STN STL
17 | 12 |8155032 HEX NUT, 3/8-16 STN. STL.
18 | 12 |8155038 HEXNUT 1/2-13 STN. STL.
19 | 12 (8403100 SCREW, PAN HEAD, TORX TAMPER-PROOF,
1/4-20 x 1" STN STL
20 | 40 8542075 SMS #8 X 3/- 'H PAN HD SELF DRILLING
21 | 36 |8645125 ' TEK SCREW, #14 X 1-1/4", SELF TAP, FLANGE
- HD W/ NEOPRENE SEAL, ZINC
22 | 12 |8684053 1/4" FLAT WASHER STN. STL.
23 | 28 |8685100 FLAT WASHER, 3/8", STN STL
24 | 12 |8685150 FLATWASHER 5/8" STN. STL.
25 | 12 |8703049 1/4" LOCK WASHER SS, SPRING LOCK
I 90 3/16" | 26 |28 ‘8705068 LOCK WASHER, 3/8", STN STL
S e S e S S S B
6" ADJUSTMENT
/ (BOTH WAYS)

3/8-16 X 3" HD BOLT STN STL
BRACKET TO POST ARM

109 1/4"

4 1/2"

3/8-16 X 3" HD BOLT STN STL.
MOUNT PLATE TO BRACKET

ELECTRICAL ACCESS:
AT REAR OF POST

MOUNTING PLATE
W 1/2" PIPE
THREADED NIPPLE:

g
=18 1/16"‘-1

-y —
CDP40X200ADSOTM—=
SUNRISE SYSTEMS INC o o
BY OTHERS
28" C.C. 1/2" PIPE CONNECTIONS——=|

l SECTION CC-CC

SCALE 5/32
FRONT VIEW SIDE VIEW

172" 98 1/2" -
g

I
)
=

GENERAL NOTES:
86 172" 120 1. ALL STRUCTURAL STEEL, UNLESS OTHERWISE NOTED, SHALL BE ASTM A-36, ey T ey
MINIMUM YIELD STRENGTH 36,000 PSI. INTELLEGTUAL ProperTy O ToLan wrs. | TP AR’ TOLAR MANUFACTURING COMPANY. INC
2 ALL STRUCTLRAL ALUMINUN MEMEBERS, UNLESS OTHERWISE NOTED, SHALL BE OF | miosnernorecteosriav vy [LTOLAR, 258 Mariah Gircle, Gorona CA. 92879
ALL - ) 3 Cesomron
3. ALL HOLES TO BE DRILLED OR PUNCHED. WATIEN GONSENT PO TOLAR MFG. ~ |17 NON AD DOME VOYAGER WITH SIGN BRAGKET
FOUNDATION PLAN 4. STEEL WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD D1. | ALLDOCUMENTSTOBE RETURNED T0  [isrorereoer
E— 1-10. ELECTRODES SHALL CONFORM TO AWS 5.1, CLASS E70S-5. s o o SANLUIS OBISPO
5. ALUMINUM WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD | AND DIMENSIONS AND REPORT ANY AND | 52 | A7 oG . T
D1. 2-08. ELECTRODES SHALL CONFORM TO AWS/SFA 5.10 CLASS ER4043. AL DISCREPANCIES TooLaRMFG. o |2 VARIE! 30081-00 -
6. ALL WELDING TO BE DONE AT TOLAR MANUFACTURING COMPANY, INC. FACILITY. | PORTION OF THE WORK. S NOTED | ™™ 811172017 PN randrade
1

8 7 3 5 4 T 3 T 2
T:\Inventor\Shelters\Non-Ad Custom Dome\30081-00.idw




16'-9"

3" — | 3'_3" |

7"63/]6"

7"63/16"
I H =
1
I
I
I
[ [ —
L - x
| |
I U N
RETROFIT — e
I # 1 1'-1" 2'_4" 1'_1"
4'_6"
B
— 1/2"
|
|
|
N |
|
|
91/" 71_1/2u
8
|
|
CENTER POST (+3')-
WELDMENT 34418-00
' 3/n |
10-5% 10"-8%," 10-10%," !
v r1/n
8'6/2 8!_91/2" |
|
SIDE POST (+5")
WELDMENT 34420-00
|
|
1'_6"
|
- - |
— | —— — | E—— E—— | S —
1"6" 1'_67/8" 1|_71/2|| I - — — — — — — — — — — — — — —_ —_ __e
3" 5" I "
A 3
i J l |
\ » / |
-
B
FRONT ELEVATION
SCALE 9/16"=1"' VIEW B-B
SCALE 1"=1'
17'_5"
i 8"21/2" i 8"21/2" i
@ ® ® (] ® ®
e e e e &, o ~ R~ Tolar Manufacturing Company, Inc
7-10%4" 7-1014" GENERAL NOTES TOLAR 58 Mariah Circle, Corona CA. 92879
2 2 1. ALL STRUCTURAL STEEL, UNLESS OTHERWISE NOTED, SHALL BE ASTM A-36, MINIMUM YIELD STRENGTH 36,000 PSL. U o, ’ :
2. ALL STRUCTURAL ALUMINUM MEMBERS, UNLESS OTHERWISE NOTED, SHALL BE OF ALLOY 6063-T5 OR GREATER. RETROFIT KIT #1 (FOR 30081-00)
3. ALL HOLES TO BE DRILLED OR PUNCHED.
FOUE&?&I}S&ELAN 4. STEEL WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD D1. 1-10. ELECTRODES SHALL CONFORM TO AWS 5.1, CLASS E70S-5. COSTONERVERDST SAN LUIS OBISPO Torl
= 5. ALUMINUM WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD D1. 2-08. ELECTRODES SHALL CONFORM TO AWS/SFA 5.10 CLASS ER4043. |57 | waTC DWoNG. REV-G.
6. ALL WELDING TO BE DONE AT TOLAR MANUFACTURING COMPANY, INC. FACILITY. D « % ¥ VARIES * * * 33830-00
7. ALL CORPORATE PROCEDURES, INCLUDING FABRICATION, MUST BE IN COMPLIANCE WITH TOLAR MANUFACTURING CO. INC'S QUALITY CONTROL MANUAL. STooKF e, L —

7 6 5 4 | 3 | 2 | 1
T:\Inventor\Shelters\Non-Ad Custom Dome\33830-00.idw




8 4 3 2 | 1
Parts List.
TTEM[QTY] _PART NUMBER DESCRIPTION
13 | 1 [30822-00 17' VOYAGER ROOF ASSY.
1| 36 [1002010P PAINTED FINISHING PLUG 5/8 STEEL
1 3 | 6 [16841-00 ROOF PRESSURE RIB WITH BATTEN
5 | 5 [16875-00 ROOF PANEL ALUM.
4 | 2 [16874-00 Z CHANNEL EXTRUSION
9 [ 1 |30533-01 POST ASSY. WITH ELECTRICAL ACCESS
10 | 2 [30560-00 POST WELDMENT
6 | 2 |19603-00 BENCH SEAT WELDMENT - ARM REST
7 | 1 [19604-00 BENCH SEAT WELDMENT
8 | 1 |19655-00 SUPPORT CHANNEL WELDMENT
2 | 1 [1106040 BIT, TORX T-27, TAMPER-PRUF FOR TORX
1/4"
K 14 | 12 [8013025 ANCHOR BOLT, J-HOOK, 1/2"-13 X 12",
2 J-HOOK OPENING HOT DIPPED GALVANIZED
e 15 | 16 [8086115 BOLT, 3/8-16 x 1" HEX HEAD, STN STL
18 | 12 [8155038 HEXNUT 1/2-13 STN. STL,
19 | 12 [8403100 SCREW, PAN HEAD, TORX TAMPER-PROOF,
1/4-20 x 1" STN STL
20 | 40 |8542075 |SMS #8 X 3/4" PH PAN HD SELF DRILLING
21 | 36 [8645125 TEK SCREW, #14 X 1-1/4", SELF TAP, FLANGE
HD W/ NEOPRENE SEAL, ZINC
22 | 12 |8684053 1/4" FLAT WASHER STN. STL.
23 | 16 |8685100 FLAT WASHER, 3/8", STN STL
24 | 12 |8685150 FLATWASHER 5/8" STN. STL.
25 | 12 |8703049 1/4" LOCK WASHER SS, SPRING LOCK
3 26 | 16 |8705068 LOCK WASHER, 3/8", STN STL
90 3/16" |
T ‘
Y
&
© 6" ADJUSTMENT
/ (BOTH WAYS)
< N
o
o3
3
ELECTRICAL ACCESS:
AT REAR OF POST
&
L
©
o
I:
SIDE VIEW
’= 98 1/2" ﬂ‘
GENERAL NOTES:
1. ALL STRUCTURAL STEEL, UNLESS OTHERWISE NOTED, SHALL BE ASTM A-36,
120 MINIMUM YIELD STRENGTH 36,000 PSL.
2. ALL STRUCTURAL ALUMINUM MEMBERS, UNLESS OTHERWISE NOTED, SHALL BE OF | THE DESIoN vporawics reman T [ == 2o 40 MANUFACTURING COMPANY, INC
ALLOY 6063-T5 OR GREATER. AND ARE PROTECTED BY LAW. THEY MAY_ 258 Mariah Circle, Corona CA. 92879
3. ALL HOLES TO BE DRILLED OR PUNCHED. NOTBE ALTERED MEPRODUCED On USED e -
4. STEEL WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD D1. | forFASrRch T rorsmura |17 NoN AD DOME VOYAGER
1-10. ELECTRODES SHALL CONFORM TO AWS 5.1, CLASS E70S-5. L DOCUNENTS TOBE e e p—
5. ALUMINUM WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD | [OLAR MFG.
D1. 2-08. ELECTRODES SHALL CONFORM TO AWS/SFA 5.10 CLASS ER4043. D DIIENSIONS AND REPORT AN AND | 7 | e .
6. ALL WELDING TO BE DONE AT TOLAR MANUFACTURING COMPANY, INC. FACILITY. | ALLDISCREPANGIES IO TOLAR FG. D VARIE - -
7. ALL HOLES FOR BENCH INSTALLATION TO BE DRILLED AND TAPPED ON SITE. PORTIONF THEWORK. | MELATED [ooae NOTED | ™™ 51112017 PRRINEY andrade.
8 5 4 I 3 I 1

2
T:\Inventor\Shelters\Non-Ad Custom Dome\30081-01.idw




5 4 3 2 1
16'-9"
3" — | 3'_3"
D
7"63/16"
71_63/16"
9"13/16"
PLAN VIEW
SCALE 9/16"=1"'
] RETROFIT
KIT #2
” ~ A
/ -
|
|
|
o N — |
| P
CENTER POST (+4-3/4") |
WELDMENT 34422-00 I
|
|
SIDE POST (+11-1/2")
WELDMENT 34424-00
10'-5%,"
/i 10-1014" |
11-51," !
8"61 "
/2 8"1 1 1/4"
|
|
B
|
|
|
|
4%"
T . ___ B - . | - - . . . . |
1 |_5|| 1 "67/]6" 1 "77/8" —T I
1 11/2"
J
|
|
\ // ~—
N A
VIEW A-A
FRONT ELEVATION SCALE 1"=1
SCALE 9/16"=1"
17I_5ll
8“21/2" | 8"21/2"
. | _ _
e o e o ° GENERAL NOTES ToLAR  Tolar Manufacturing Company, Inc
@ @ J@ 1. ALL STRUCTURAL STEEL, UNLESS OTHERWISE NOTED, SHALL BE ASTM A-36, MINIMUM YIELD STRENGTH 36,000 PSI. oo, 258 Mariah Circle, Corona CA. 92879
DESCRIPTION
o e o e o 2. ALL STRUCTURAL ALUMINUM MEMBERS, UNLESS OTHERWISE NOTED, SHALL BE OF ALLOY 6063-T5 OR GREATER. RETROFIT KIT #2 (FOR 30081-01)
i e — 3. ALL HOLES TO BE DRILLED OR PUNCHED. N
7-10% 7-10% 4. STEEL WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD D1. 1-10. ELECTRODES SHALL CONFORM TO AWS 5.1, CLASS E70S-5. CUSTOMERVENDOR S AN LUIS OBISPO Torl
5. ALUMINUM WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD D1. 2-08. ELECTRODES SHALL CONFORM TO AWS/SFA 5.10 CLASS ER4043. sz T et . )
FOUNDATION PLAN 6. ALL WELDING TO BE DONE AT TOLAR MANUFACTURING COMPANY, INC. FACILITY. D ‘s VARIES ¢+ * 33831-00
SCALE 9/16"=1" 7. ALL CORPORATE PROCEDURES, INCLUDING FABRICATION, MUST BE IN COMPLIANCE WITH TOLAR MANUFACTURING CO. INC'S QUALITY CONTROL MANUAL. ~—sor ——
- 4/11/2019 cgarcia

4 | 3 |

2

1

T:\Inventor\Shelters\Non-Ad Custom Dome\33831-00.idw




4
201"
—— CENTERED TYP. —
o
s
B
& 3/4" X 1-1/2"
E ALUM. TUBE
L
O =
i ©
¥ — — N l
8 L —— o e &
10' OF SO CORD
EXTRA FROM HERE
(RUN INTO COLUMN)
ALL ELECTRICAL TO
RUN THROUGH ROOF FRAME
NOTE: ALL ELECTRICAL TO
RUN THROUGH ROOF FRAME LIGHT TO DRIVER
DRIVER TO TIMER
TIMER TO BREAKER 90%e" I
/— 10" JUMPER «

10" OF SO CORD
EXTRA FROM HERE

LIGHT ENCLOSURE WITH

LIGHT STRIP

PARTS LIST
ITEM|QTY[PART NUMBER DESCRIPTION

1 | 1 [3030030 BREAKER, 15 AMP GFCI QCGF1015
(10,000 AIC)

2 | 1 [3030110 QUICK LAG C-6 POLE QC6BP

3 | 1 [3050210 KM2ST-1G IN-WALL TIMER (STD)

4 | 1 [3051110 STD. UTILITY BOX ALUM 2 X 4

5 | 1 [30584-00 17" SUNSET ROOF WELDMENT

6 | 1 (3362111 USC KIT, RMSACF, GRID TIE, 2
LIGHT

7 | 16 |8645075 TEK SCREW, #14 X 3/4", SELF TAP,
HEX HD W/ FLANGE

DRIVER

(RUN INTO COLUMN)
BREAKER

’-—— 15%"

LIGHT ENCLOSURE WITH

LIGHT STRIP

DURABILITY WITH DISTINCTION
DESCRIPTION

17" SUNSET ROOF ASSY.

¢ TOLAR MANUFACTURING COMPANY, INC

258 Mariah Circle, Corona CA. 92879

CUSTOMER/VENDOR

SIZE

B

MATL.

DWG NO.

30822-00

SCALE

[ 7672017

| DRAWN BY:

randrade

T:\Inventor\Rog%s\30822—00.idw

1




REVISIONS
THIS DRAWING HAS BEEN GENERATED AND IS

By CHANGES
ST ONLY D IR RS A8 DIRECLED ZONE ‘ REV ‘ DESCRIPTION DATE APPROVED
BY TOLAR MANUFACTURING CO.,INC.S
ENGINEERING DEPT.

LIGHT FIXTURE 1 LIGHT FIXTURE 2

10' JUMPER
RED (+)

=g 1 |

\ LED STRIP o LED STRIP

LED DRIVER

LED DRIVER

(L) BLK
() WHT

TIMER

GREEN (GROUND) | | |

<l
ElE
NoTEs (v 2| | € FACTORY REQUIREMENTS
| NOTE 3 (TYP) \ == . ELECTRICAL REQUIREMENTS ARE 120 VAC, 60 CYCLE & 380 WATT(.390 KW/HR)
-

. ELECTRICAL SUPPLY SHALL BE THREE WIRE(HOT, NEUTRAL & GROUND)
. THE GREEN INSULATED CONDUCTOR IN THE SO CORD SHALL BE USED FOR
| ono [ ’& | | | EQUIPMENT GROUNDING ONLY.
LuG 12AWG SOLID COPPER WIRE . NEUTRAL SHALL BE INSULATED FROM GROUND AT ALL LOCATIONS INCLUDING

BUS STOP SHELTER AND KIOSK.
. USE WIRE NUT TO MAKE SPLICE CONNECTION.
. EACH ELECTRICAL DEVICE SHALL BE GROUNDED TO THE WELDED FIXTURE/
e OF1 CCROSSMEMBER/ROOF STRUCTURE OR TO THE ADVERTISING BOX. ENSURE THAT
EACH FACTORY INSTALLED ELECTRICAL DEVICE GROUNDING CONNECTION
1S TO BRIGHT METAL-NO PAINT OR OTHER FINISH IS ALLOWED UNDER GROUNDING
LUG OR SCREW.

wno

I

OTE 4

oo

7. ALL WIRING TO BE IN ENCLOSED WIREWAYS.
I I I | 8. DO NOT DRILL OR TAP COLUMNS, POSTS, MOLDINGS WHICH CONTAIN ELECTRICAL
CIRCUIT WIRING.
| WHITE (PIGTAIL) | | |
INSTALLATION CONTRACTOR REQUIREMENTS
SO CORD A. CONTRACTOR SHALL COMPLY WITH ALL REQUIREMENTS OF NATIONAL ELECTRICAL CODE,
S—

LOCAL CODES AND THE AUTHORITY HAVING JURISDICTION.

ALL MATERIALS SHALL BE NEW. ALL MATERIALS SHALL BE UL LISTED AND LABELED
FOR THE INTENDED USE.

TOR SHALL PROVIDE OVER GURRENT PROTECTION NOT TO EXCEED 208, THE

o ®
Q
[=3
E

T
D. CONTRACTOR SHALL PROVIDE DURABLE CIRCUIT IDENTIFICATION OF THE SHELTER AT
THE BRANCH CIRCUIT SUI
| | | £ CONTRACTOR SHALL PROVIDE A DURABLE NAVEPLATE NEAR THE TOLAR RATING PLATE
IDENTIFYING THE LOCATION OF THE BRANCH CIRCUIT PROTECTIVE DEVICE SERVING THE
SHELTER

OF SO CORD TO S N w
50 DOWN MIGHT oL o ™)

Tolar Manufacturing Company, Inc
258 Mariah Circle, Corona, CA 92879

DESCRIPTION
17° NON AD VOYAGER
CUSTOMER,/VENDOR
SAN LUIS OBISPO, CA
SIZE | MATL. DWG NO. REV

30081-00
SCALEN ONE ‘DATEWO 09/17 ‘DRAWN BY: RA




Instructions

TOLAR

)URABILIT

TOLAR MANUFACTURING COMPANY INC
258 MARIAH CIRCLE
CORONA, CA 92879

INSTALLATION
INSTRUCTIONS

FOR
30081-00

17' NON AD VOYAGER

TRANSIT SHELTERS | STREET FURNITURE | DISPLAYS & DIRECTORIES | TRANSIT SOLAR LIGHTING
258 Mariah Circle, Corona, CA USA 92879-1751 | 800-339-6165 | 951-808-0081 | www.tolarmfg.com



ANCHOR SPECIFICATION SHEET

3/4
ansmariay E UIFS
AR AL ] am— 10 By Ha T ME o A0 A

i i i ] ik | jiwndf LAy
Meorndral HE v s s S
v in 38 12 a8 a4
. Fd Fd 3-1/4 3-1/8 4 334 434
ifai o — s s i s e
=1 &1 i85 {751 {02 &5 )]
2.5m 2.5/ a 2.9/4 4274 458 5.4
" =38 2=-5/2 4 3-34 43 28 524
o fory = a7 0 asy A 1T Ae
{mmy 67 BN i (45) ey (17 {146
Min. thickness of i In, 1/4 A 14 £l 4 18 1-58
Tixiure! (mmj (6) 19) (B) 9 a9 (3) (41)
iiax. iniciness of e iin. 2-1/4 4 2-34 5-58 4374 458 3-58
fliure fmim [=)] {101} {70) {143 {121y (117 (92)
Installation toroue T ft-io 25 % 60 110
b L My an BAY an 140
M 24 ey B 144
Min. da. of hole d In 7HE ane 114186 1316
h
In fxtur2 - fmmi {11.1) 14.3 175) 206
Anvsnlladd o crendes In a =17 | E S afAl A AFNE 4 T A 344 e a4 4N E41 M [} 1M
FAVCH PR QN RA A '_.,.-..\h. LN ] Ll o Eant= e e Bl L N gl 4 ) il | v (=l 4 " EL P4 (=] v
lanith b fmmi el sy laem ] @sy | A1l A7 [a 20 Asal e @54y | any | oo | s
Lol yriny APy ywnwey gt ) Wy | TR R R Pe Ny |y iy TN R ep ) b e L Ty
Threaded lenath i In 78l 1-5812-7/8] 1-5/8|2-3/8] 3-3/8|4-7/81-1/2|12-374] 5-1/4] 6-3/4] 1172 4 [i]
o . it e . e | o b | e | PR VR e .
IMCAUTING G040 PNt mmj L) 411 | (73 41) | 15 7 ) | G ] (L& 07T Ll {12]
I L) A 4 id A
L,.!..mded!a‘!ﬁm { - L1t & 0o o Y= Bl Tl o
g oL frrmi B4 \ ] O
fmmi o4 541 k] 102
Ingtallation b I, 2-14 238 | 3-5m 2-5/8 4-1/2 4-1/8 5-18
embedment F mmj 5] B0 | @2 92) 114 i1 | (i3

1 The iindminm thickness of the fastansd pait |5 basad on i of tha aahor At iR smbsdmant and 15 controlad by the kengih of thiad. I tianar festaning thiekness s
required, increase he anchor embedment to sult

Figure 1 — Kwik Bolt TZ installed

Eitread 'ﬁl !

dl\ 4 r
] 1 i
anch 1
£unthr fet nom ho

Instructions



ANCHOR INSTALLATION SHEET

Mechanical Anchoring Systems

Kwik Bolt TZ Expansion Anchor 4.3.4

4.3.4.4 Kwik Bolt TZ Anchor Installation Instructions
into normal-weight and lightweight concrete

1. Hammer drill a hole to the same nominal 2. Clean hole.
diameter as the Kwik Bolt TZ. The hole depth
must exceed the anchor embedment by at least
1/4 inch. The fixture may be used as a drilling
template to ensure proper anchor location.

3. Drive the Kwik Bolt TZ into the hole using 4, Tighten the nut to the recommended
a hammer. The anchor must be driven installation torque.
until at least 4 threads are below the
surface of the fixture.

Instructions



PY00-FBO0ENBWO WYSTD) Py-Uon |58 Euysliojuaauy: | Lw
z L £ L . S 3 2 8

SHOA S PN SIS N G371 G GBTITH038 L NOL 119 5N FDNGE Wod5300H 119 2

TS B S ;
LLTTDN "SI NFIINDD NS 1oL 1 300 33 0L SNIGTIW T 3
M P0PIASSID 0TS WIS OL WHOINGD THHS ST 50210

GAEEOSITTNE

p— o e S0 oy D15 Y OL MAINGD THHS SN 01 NV ROIVaNTOT

TPOWINTSHIATIONON OO OV RO & B PSSO | +1 Q15 AL3D0S SHIGTA NAOLEWY OL WOHND THS SHITTN, TS ‘b
oumn] | SSHS GG S sk Q3DAW D GITTH] BOLETCH 118 '€
R R =Tonl B LY i B 0 SLEA08 JOTH
SN ANV DTN VAL < YN DT | 0 3311 /ERIONISINEHLO ST SENEMCNINTTY T LTS Tio 2

=] HUNWAS S OO NS, 15 000°9€ HLENTWIS QBIL AL w2t 2
Y HLSH 38 THHS ‘TION TWEHIO SSTNN LS TWALOOHIS T T

SION WEINT ]
2 2
SR AAIaR IR INOEA

29-00 NOILLO3S

e £ SUIHLO AT
OHI SEI5AS ISIHNNS
=N LOBVOLE K0P AT

3ddIN A30VIHHL

3did 2/ A
3114 ONLLNNOW

DT

™ is0d 0 uvau Ly
553000 TWOIR 0T

1340%H8 OL 3L57d INNON
LS NIS 1108 OH & X 2 H&/E

WY 180d OL L330vH8
IS N1S L1108 QH e X 8h-6R

auezL

TS IS A WaEm o0 Sl 5| & |
E S0 NI (=% H3HEU, SDOT 1| BbEnze| 21 | %2 |
i
5
21 K £z SooHT 'L108 HorDI] i
AT
KHOL MO M- H3dYL 2-1 xH0 L ‘18| z
|
a TOEALE S0 e
Wy W 00 s
VLT HITH 30 15535 00 ]|
73315 8/5 9M1d SNIHSINE J3LNIY,
TE57 J008 THRO0R L 57|
TEILANGE3a [
R 5

Instructions



POST INSTALLATION

1. Follow the plan view measurements for placement of anchors and post/columns.
ANCHOR BOLT, J-HOOK, 1/2"-13 X 12", J-HOOK OPENING HOT DIPPED
GALVANIZED, washer and nut for column installation. The far left column will be the one
to have the electrical access towards the back. Don’t tighten anchors all the way, some
play might be needed when installing the roof.

Post/column

ANCHOR BOLT, J-HOOK,
& 1/2"-13 X 12", J-HOOK
OPENING HOT DIPPED
3 GALVANIZED

ROOF ASSEMBLY

1. Assemble roof, start by setting the roof panels over the roof frame. Space them evenly in
a matter that all panels over lap the roof bow members. Secure them using the pressure
ribs and TEK SCREW, #14 X 1-1/4", SELF TAP, FLANGE HD W/ NEOPRENE SEAL,
ZINC.

2. Finish the pressure rib installation by capping the hardware holes with PAINTED
FINISHING PLUG 5/8 STEEL.

Instructions



Pressure ribs

Roof

Center pressure ribs to
overlap and secure two
panels

Roof panels to sit on
roof bows

-

ROOF INSTALLATION

1. Lift roof and lower it over installed post/columns. The roof has a 3-position installation
option, it can be centered, 6” forward position or 6” backward position. The position
desired will be achieved by aligning the roof mounting holes with the post mounting holes.
NOTE: as you lower the roof into place make sure to run your electrical cord down the
right side of the roof into the right post/column. Secure the roof using BOLT, 3/8-16 x 1"
HEX HEAD, STN STL, washer and locking washer (4 per post). Secure all bolts and well
as the post/column J Anchors.

Electrical out of roof’s right
side into post/column

Optional position mounting
holes

Right post with electrical
access towards rear

Instructions



Instructions

Electrical from roof into
right post/column

Optional position mounting
holes

Right post with electrical
access towards rear

Optional position mounting
holes




BENCH INSTALLATION

1. Install the support channel weldment. Place between post/columns and set at desire
height. Mark the hole locations and drill and tap for the attachment hardware, BOLT, 3/8-
16 x 1" HEX HEAD, STN STL., washer and locking washer (4 per support. Secure the
support channel post to weldment and proceed to install the bench.

2. The bench will attach to the support channel from the underside. The bench without arm
rest will be installed in the middle of the two with arm rest. Use SCREW, PAN HEAD,
TORX TAMPER-PROOF, 1/4-20 x 1" STN STL, washer and locking washer.

Support channel weldment

Support channel weldment

BOLT, 3/8-16 x 1" HEX
HEAD, STN STL.,

Post/column

Underside hardware
access for bench mounting

Instructions



Bench mounting points

Underside hardware
access for bench mounting

\ SCREW, PAN HEAD, TORX TAMPER-
PROOF, 1/4-20 x 1" STN STL,

Drill and tap on site for
desired height

SIGN INSTALLATION

1. Optional sign mounting bracket attaches to the right post/column using 3/8-16 X 3" HD
BOLT STN STL. washer, locking washer and nut.

2. The mounting bracket weldment attaches to the digital sign unit and then it gets mounted
to the sign mounting bracket using 3/8-16 X 3" HD BOLT STN STL, washer, locking
washer and nut. NOTE: run your electrical from the digital sign up into the sign bracket to
the post/column.

3/8-16 X 3" HD BOLT
STN STL

Sign mounting bracket

Mounting bracket

Electrical route

Instructions

Digital sign




8
Parts List
ITEM[QTY] _PART NUMBER DESCRIPTION
13 | 1 [30779-00 22 VOYAGER ROOF ASSY.
1| 42 [1002010P PAINTED FINISHING PLUG 5/8 STEEL
3 | 7 |16841-00 ROOF PRESSURE RIB WITH BATTEN
4 | 6 [19629-00 ROOF PANEL
1 5 | 6 |19630-00 Z CHANNEL EXTRUSION
7 | 1 |30655-00 SIGN BRACKET
8 | 2 |30660-00 MOUNTING BRACKET WELD.
9 | 1 |30664-00 POST WELDMENT LEFT
10 | 1 [30667-00 POST WELDMENT MID RIGHT
11 | 1 [30712:00 POST WELDMENT MID LEFT
12 | 1 [30731-00 POST ASSY. WITH ELECTRICAL ACCESS
o 6 | 2 [19656-00 SUPPORT CHANNEL WELDMENT
5 14 | 2 [30810-00 EURO BENCH WITH V-BAR ASSY. 7.
2 | 1 [1106040 BIT, TORX T-27, TAMPER-PRUF FOR TORX
14"
15 | 16 [8013025 1-2 - 13 X 121 J ANCHOR BOLT - GALVANIZED
16 | 24 [8086115 BOLT, 3/8-16 x 1" HEX HEAD, STN STL
17 | 12 [8086302 3/8-16 X 3" HD BOLT STN STL
18 | 12 [8155032 HEX NUT, 3/8-16 STN. STL.
19 | 16 [8155038 HEXNUT 1/2-13 STN. STL.
20 | 25 8403100 SCREW, PAN HEAD, TORX TAMPER-PROOF,
r 1/4-20 x 1" STN STL
21 |120(8542075 |SMS #8 X 3/4" PH PAN HD SELF DRILLING
22 | 42 [8645125 TEK SCREW, #14 X 1-1/4", SELF TAP, FLANGE
HD W/ NEOPRENE SEAL, ZINC
23 | 25 |8684053 1/4" FLAT WASHER STN. STL.
24| 36 |8685100 FLAT WASHER, 3/8", STN STL
25 | 16 8685150 FLATWASHER 5/8" STN. STL.
26 | 25 8703049 1/4" LOCK WASHER SS, SPRING LOCK
27 | 36 |8705068 LOCK WASHER, 3/8", STN STL

6" ADJUSTMENT
(BOTH WAYS)

125 11/16"

kS
H
= 3/8-16 X 3" HD BOLT STN STL-
BRACKET TO POST ARM
®
5
ELECTRICAL ACCESS
AT REAR OF POST 3/8-16 X 3" HD BOLT STN STL
MOUNT PLATE TO BRACKET
ADJUSTABLE BENCH
SUPPORT - D&T ON SITE g
s
T MOUNTING PLATE
X W 1/2" PIPE
THREADED NIPPLE
3 — JE N —
'CDP40X200ADSOTM
SUNRISE SYSTEMS INC
BY OTHERS
FRONT VIEW SIDE VIEW 28" C.C. 1/2" PIPE CONNECTIONS —————==
SECTION CC-CC
SCALE 9/64
’— = e -t e uE e = ‘ GENERAL NOTES:
1. ALL STRUCTURAL STEEL, UNLESS OTHERWISE NOTED, SHALL BE ASTM A-36,
1116 24 1116 o 281116 MINIMUM YIELD STRENGTH 36,000 PSI. Y T T e
o VAN THE [
2. ALL STRUCTURAL ALUMINUM MEMBERS, UNLESS OTHERWISE NOTED, SHALL BE OF | e/ cari oL PROPERTY GF TOLAR MFG. TOLAR MANUFACTURING COMPANY. INC
ALLOY 6063-T5 OR GREATER. o ane prorecrepoy Law vy | L OLAVS 258 Mariah Circle, Corona CA. 52679
3. ALL HOLES TO BE DRILLED OR PUNCHED. 3 Wl
FOUNDATION PLAN 4. STEEL WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD DI. | iatian Goneent fhow tocn mee” 22 NON AD DOME VOYAGER
1-10. ELECTRODES SHALL CONFORM TO AWS 5.1, CLASS E70S-5. ALLDOCUNENTSTOBERETUMNEDTO [ rcrenvvoon
5. ALUMINUM WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD | LOtARMEG: AT COMPLETION OF WORKC SANLUIS OBISPO
D1. 2-08. ELECTRODES SHALL CONFORM TO AWS/SFA 5.10 CLASS ER4043. AND DIMENSIONS AND REPORT ANY AND | 52 | WAt oG . E
6. ALL WELDING TO BE DONE AT TOLAR MANUFACTURING COMPANY, INC. FACILITY, | ALDISCREPANCIES ToToLARMEG, | D VARIE: 30080-00 |-
7. ALL HOLES FOR BENCH INSTALLATION TO BE DRILLED AND TAPPED ON SITE. PORTION OF THE WORK. SOAE NoTED | ™ 9712017 PRRINEY andrade.

8 7 3 5 4 T 3 T 2
T:\Inventor\Shelters\Non-Ad Custom Dome\30080-00.idw




7 5 3 2 | 1
Parts List
ITEM|QTY| PART NUMBER DESCRIPTION
13 | 1 [30779-00 22' VOYAGER ROOF ASSY.
1 | 42 |1002010P PAINTED FINISHING PLUG 5/8 STEEL
- 3 7 _|16841-00 ROOF PRESSURE RIB WITH BATTEN
43" TYP. ( : ) 4 6 |19629-00 ROOF PANEL
5 6 |19630-00 Z CHANNEL EXTRUSION
1 9 1 |30664-00 POST WELDMENT LEFT
10 | 1 |30667-00 POST WELDMENT MID RIGHT
'—® 11 | 1 [30712-00 POST WELDMENT MID LEFT
12 | 1 |30731-01 POST ASSY. WITH ELECTRICAL ACCESS
@ 6 2 |19656-00 SUPPORT CHANNEL WELDMENT
14 | 2 [30810-00 EURO BENCH WITH V-BAR ASSY. 7.
2 1 |1106040 BIT, TORX T-27, TAMPER-PRUF FOR TORX
X 1/4"
g 15 | 16 8013025 ANCHOR BOLT, J-HOOK, 1/2"-13 X 12",
J-HOOK OPENING HOT DIPPED GALVANIZED
16 | 24 |8086115 BOLT, 3/8-16 x 1" HEX HEAD, STN STL
19 | 16 |8155038 HEXNUT 1/2-13 STN. STL.
20 |25 ‘8403100 ‘SCREW, PAN HEAD, TORX TAMPER-PROOF,
1/4-20 x 1" STN STL
21 | 48 8542075 EMS #8 X 3/4" PH PAN HD SELF DRILLING
22 | 42 |8645125 TEK SCREW, #14 X 1-1/4", SELF TAP, FLANGE
HD W/ NEOPRENE SEAL, ZINC
L E— 23 |25 1/4" FLAT WASHER STN. STL.
24 | 24 FLAT WASHER, 3/8", STN STL
25 | 16 FLATWASHER 5/8" STN. STL.
26 5 1/4" LOCK WASHER SS, SPRING LOCK
27 | 24 ‘8705068 LOCK WASHER, 3/8", STN STL
6 ADJUSTMENT
(BOTH WAYS)

125 11/16"

ADJUSTABLE BENCH
SUPPORT - D&T ON SITE

ELECTRICAL ACCESS
/ AT REAR OF POST

g
e

FRONT VIEW SIDE VIEW

’— = 11/16" = e ——————= ‘

118" % GENERAL NOTES:

F?A11/16“+7411/16“+74H/16”H

1. ALL STRUCTURAL STEEL, UNLESS OTHERWISE NOTED, SHALL BE ASTM A-36,
MINIMUM YIELD STRENGTH 36,000 PSL.

2. ALL STRUCTURAL ALUMINUM MEMBERS, UNLESS OTHERWISE NOTED, SHALL BE OF
ALLOY 6063-T5 OR GREATER.

3. ALL HOLES TO BE DRILLED OR PUNCHED.

4. STEEL WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD D1.
1-10. ELECTRODES SHALL CONFORM TO AWS 5.1, CLASS E70S-5.

5. ALUMINUM WELDING SHALL CONFORM TO AMERICAN WELDING SOCIETY STANDARD

THE DESIGN AND DRAWINGS REMAIN THE

EC
NOT BE ALTERED, REPRODUGED OR USED
FOR FABRIGATION WITHOUT EXPRESSED
WRITTEN COI MFC

L DOGUMENTS TO BE RETURNED TO

o

Cescrery
22 NON AD DOME vOYAGER

SAN LUIS OBISPO

TOLAR MANUFACTURING COMPANY, INC
258 Mariah Circle, Corona CA. 92879

D1. 2-08. ELECTRODES SHALL CONFORM TO AWS/SFA 5.10 CLASS ER4043. IMENSIONS AND R S [ G . e
6. ALL WELDING TO BE DONE AT TOLAR MANUFACTURING COMPANY, INC. FACILITY. | ALLDISCREPMNCIES o roLARMEG.. = | D VARIE 30080-01 -
7. ALL HOLES FOR BENCH INSTALLATION TO BE DRILLED AND TAPPED ON SITE. PORTION OF THE WORK. SME NOTED | ™ 9712017 MEY randrade

I 3 I

2
T:\Inventor\Shelters\Non-Ad Custom Dome\30080-01.idw




4
264"
— CENTERED TYP. —
o
=
[a]
& 3/4" X 1-1/2"
= ALUM. TUBE
; j
© o
s - ——l = —— — = —— e == —m .
X i = A j
R = ——— 4
=3 — = = \
10' OF SO CORD
EXTRA FROM HERE
(RUN INTO COLUMN)
ALL ELECTRICAL TO
RUN THROUGH ROOF FRAME
NOTE: ALL ELECTRICAL TO
RUN THROUGH ROOF FRAME
LIGHT TO DRIVER
DRIVER TO TIMER
Lo 10' JUMPER 10' JUMPER TIMER TO BREAKER N3
2 /£ ya i 90¥¢" '
] |
S ’ S — S—— y 10' OF SO CORD are
EXTRA FROM HERE
— (RUN INTO COLUMN)
LIGHT ENCLOSURE WITH DRIVER BREAKER LIGHT ENCLOSURE WITH
LIGHT STRIP LIGHT STRIP
PARTS LIST
ITEM|QTY[PART NUMBER DESCRIPTION
1 | 1 [3030030 BREAKER, 15 AMP GFCI QCGF1015
(10,000 AIC)
2 | 1 [3030110 QUICK LAG C-6 POLE QC6BP
3 | 1 [3050210 KM2ST-1G IN-WALL TIMER (STD) * TOLAR MANUFACTURING COMPANY, INC
) 1 13051110 STD. UTILITY BOX ALUM 2 X 4 DURABILITY WITH DISTINCTION 258 Mariah Circle, Corona CA. 92879
: DESCRIPTION
5 | 1 [30662-00 22' SUNSET ROOF WELDMENT o' SUNSET ROOF ASSY.
6 | 1 [3362110 USC KIT, RMSACF, GRID TIE, 3 CUSTOMERVENDOR TG
LIGHT 1 OF 1
7 | 24 | 8645075 TEK SCREW, #14 X 3/4", SELF TAP, SE [ AT owsno e
HEX HD W/ FLANGE ’ B 30779-00
SCALE |DATE 7/6/2017 |DHAWN BY: randrade

T:\Inventor\Rog%s\30779—00.idw

1




REVISIONS
THIS DRAWING HAS BEEN GENERATED AND IS

By CHANGES
ST ONLY D IR RS A8 DIRECLED ZONE ‘ REV ‘ DESCRIPTION DATE APPROVED
BY TOLAR MANUFACTURING CO.,INC.S
ENGINEERING DEPT.

LIGHT FIXTURE 1 LIGHT FIXTURE 2 LIGHT FIXTURE 3.

10' JUMPER 10' JUMPER
RED (+)

=g 1 T |

\ LED STRIP o LED STRIP N LED STRIP

LED DRIVER

LED DRIVER

(L) BLK
() WHT

TIMER

GREEN (GROUND) | | | |

<l
ElE
NoTEs (v 2| | € FACTORY REQUIREMENTS
| NOTE 3 (TYP) \ == . ELECTRICAL REQUIREMENTS ARE 120 VAC, 60 CYCLE & 380 WATT(.390 KW/HR)
-

. ELECTRICAL SUPPLY SHALL BE THREE WIRE(HOT, NEUTRAL & GROUND)
. THE GREEN INSULATED CONDUCTOR IN THE SO CORD SHALL BE USED FOR

| ono [ ’& | | | | | EQUIPMENT GROUNDING ONLY.

LuG 12AWG SOLID COPPER WIRE . NEUTRAL SHALL BE INSULATED FROM GROUND AT ALL LOCATIONS INCLUDING
BUS STOP SHELTER AND KIOSK.

. USE WIRE NUT TO MAKE SPLICE CONNECTION.

. EACH ELECTRICAL DEVICE SHALL BE GROUNDED TO THE WELDED FIXTURE/

e OF1 CCROSSMEMBER/ROOF STRUCTURE OR TO THE ADVERTISING BOX. ENSURE THAT

EACH FACTORY INSTALLED ELECTRICAL DEVICE GROUNDING CONNECTION

1S TO BRIGHT METAL-NO PAINT OR OTHER FINISH IS ALLOWED UNDER GROUNDING

LUG OR SCREW.

wno

I

OTE 4

oo

7. ALL WIRING TO BE IN ENCLOSED WIREWAYS.
| | | | | | 8. DO NOT DRILL OR TAP COLUMNS, POSTS, MOLDINGS WHICH CONTAIN ELECTRICAL
CIRCUIT WIRING.
| WHITE (PIGTAIL) | | | | |
INSTALLATION CONTRACTOR REQUIREMENTS
A. CONTRACTOR SHALL COMPLY WITH ALL REQUIREMENTS OF NATIONAL ELECTRICAL CODE,
[ —socoro

LOCAL CODES AND THE AUTHORITY HAVING JURISDICTION.

ALL MATERIALS SHALL BE NEW. ALL MATERIALS SHALL BE UL LISTED AND LABELED
FOR THE INTENDED USE.

TOR SHALL PROVIDE OVER GURRENT PROTECTION NOT TO EXCEED 208, THE

o ®
Q
[=3
E

T
D. CONTRACTOR SHALL PROVIDE DURABLE CIRCUIT IDENTIFICATION OF THE SHELTER AT
THE BRANCH CIRCUIT SUI
| | | | | £ CONTRACTOR SHALL PROVIDE A DURABLE NAVEPLATE NEAR THE TOLAR RATING PLATE
IDENTIFYING THE LOCATION OF THE BRANCH CIRCUIT PROTECTIVE DEVICE SERVING THE
SHELTER

OF SO CORD TO S N w
50 DOWN MIGHT oL o ™)

Tolar Manufacturing Company, Inc
258 Mariah Circle, Corona, CA 92879

DESCRIPTION
22" NON AD VOYAGER
CUSTOMER,/VENDOR
SAN LUIS OBISPO, CA
SIZE | MATL. DWG NO. REV

30080-00
SCALEN ONE ‘DATEWO 09/17 ‘DRAWN BY: RA




Instructions

TOLAR

)URABILIT

TOLAR MANUFACTURING COMPANY INC
258 MARIAH CIRCLE
CORONA, CA 92879

INSTALLATION
INSTRUCTIONS

FOR
30080-00

22' NON AD VOYAGER

TRANSIT SHELTERS | STREET FURNITURE | DISPLAYS & DIRECTORIES | TRANSIT SOLAR LIGHTING
258 Mariah Circle, Corona, CA USA 92879-1751 | 800-339-6165 | 951-808-0081 | www.tolarmfg.com



ANCHOR SPECIFICATION SHEET

3/4
ansmariay E UIFS
AR AL ] am— 10 By Ha T ME o A0 A

i i i ] ik | jiwndf LAy
Meorndral HE v s s S
v in 38 12 a8 a4
. Fd Fd 3-1/4 3-1/8 4 334 434
ifai o — s s i s e
=1 &1 i85 {751 {02 &5 )]
2.5m 2.5/ a 2.9/4 4274 458 5.4
" =38 2=-5/2 4 3-34 43 28 524
o fory = a7 0 asy A 1T Ae
{mmy 67 BN i (45) ey (17 {146
Min. thickness of i In, 1/4 A 14 £l 4 18 1-58
Tixiure! (mmj (6) 19) (B) 9 a9 (3) (41)
iiax. iniciness of e iin. 2-1/4 4 2-34 5-58 4374 458 3-58
fliure fmim [=)] {101} {70) {143 {121y (117 (92)
Installation toroue T ft-io 25 % 60 110
b L My an BAY an 140
M 24 ey B 144
Min. da. of hole d In 7HE ane 114186 1316
h
In fxtur2 - fmmi {11.1) 14.3 175) 206
Anvsnlladd o crendes In a =17 | E S afAl A AFNE 4 T A 344 e a4 4N E41 M [} 1M
FAVCH PR QN RA A '_.,.-..\h. LN ] Ll o Eant= e e Bl L N gl 4 ) il | v (=l 4 " EL P4 (=] v
lanith b fmmi el sy laem ] @sy | A1l A7 [a 20 Asal e @54y | any | oo | s
Lol yriny APy ywnwey gt ) Wy | TR R R Pe Ny |y iy TN R ep ) b e L Ty
Threaded lenath i In 78l 1-5812-7/8] 1-5/8|2-3/8] 3-3/8|4-7/81-1/2|12-374] 5-1/4] 6-3/4] 1172 4 [i]
o . it e . e | o b | e | PR VR e .
IMCAUTING G040 PNt mmj L) 411 | (73 41) | 15 7 ) | G ] (L& 07T Ll {12]
I L) A 4 id A
L,.!..mded!a‘!ﬁm { - L1t & 0o o Y= Bl Tl o
g oL frrmi B4 \ ] O
fmmi o4 541 k] 102
Ingtallation b I, 2-14 238 | 3-5m 2-5/8 4-1/2 4-1/8 5-18
embedment F mmj 5] B0 | @2 92) 114 i1 | (i3

1 The iindminm thickness of the fastansd pait |5 basad on i of tha aahor At iR smbsdmant and 15 controlad by the kengih of thiad. I tianar festaning thiekness s
required, increase he anchor embedment to sult

Figure 1 — Kwik Bolt TZ installed

Eitread 'ﬁl !

dl\ 4 r
] 1 i
anch 1
£unthr fet nom ho

Instructions



ANCHOR INSTALLATION SHEET

Mechanical Anchoring Systems

Kwik Bolt TZ Expansion Anchor 4.3.4

4.3.4.4 Kwik Bolt TZ Anchor Installation Instructions
into normal-weight and lightweight concrete

1. Hammer drill a hole to the same nominal 2. Clean hole.
diameter as the Kwik Bolt TZ. The hole depth
must exceed the anchor embedment by at least
1/4 inch. The fixture may be used as a drilling
template to ensure proper anchor location.

3. Drive the Kwik Bolt TZ into the hole using 4, Tighten the nut to the recommended
a hammer. The anchor must be driven installation torque.
until at least 4 threads are below the
surface of the fixture.

Instructions



P 00-0800E1aUCG UEETD py-LoN| s oA L

£

=S CETTTE— R oy o e
EEETCETE T [ i o
ek IR e

e vomm s wsammeo| S Be th

e

va6 31908
00 HalLES

SNOILGINNGO 34d 21 00,2

P

N 1904 0L 134 o7
USNIS 1108 e X 19

WS WIS '5]E HIHEWH D0
5007 ONIBG5 55 HaHSWY 00T b]]

72 A5G 993 AL FON3A T
INIATTEM TBENNGFD LH0dd
CET07 WOMLAT HLIM ASCY LSO
131 Ol LNZWOT3M L0

THETH Gl LNIWGT3 L5O:

137 LNGW QT3 L5O:
T3 LI0YHE ONLND|

FrisiEd

3115 NO CBkay L Qe CBTI30 38 0L NOLLY TH 1SN FON3E 30453 0K 117 L

Suziose
ON SPEISAS 3UNNS:
T ettt ohas

1441y 0A0VEHL
Sdid i
Shndonmnon

34073 OL 314 LINON
L5 15 1108 0H 2 K38

154 0005 HLENZMLS B, WK
965 WIS 38 TioHS ‘GLION SSIWHIHIO S5 N T35 THNIOMWS Tie 'L

“S3L0N THaND

ERENS

NV1d NOUVaRiod

i

e

mmT_L

FETYITeE]

180 0 U3 Z\
26300 WDIHLOFT3

5.5 H0.L90 - LuddnS.
fohma 1Ay LSniay

Instructions



POST INSTALLATION

1. Follow the plan view measurements for placement of anchors and post/columns.
ANCHOR BOLT, J-HOOK, 1/2"-13 X 12", J-HOOK OPENING HOT DIPPED
GALVANIZED, washer and nut for column installation. The far left column will be the one
to have the electrical access towards the back. Don’t tighten anchors all the way, some
play might be needed when installing the roof.

Post/column

ANCHOR BOLT, J-HOOK,
& 1/2"-13 X 12", J-HOOK
OPENING HOT DIPPED
3 GALVANIZED

ROOF ASSEMBLY

1. Assemble roof, start by setting the roof panels over the roof frame. Space them evenly in
a matter that all panels over lap the roof bow members. Secure them using the pressure
ribs and TEK SCREW, #14 X 1-1/4", SELF TAP, FLANGE HD W/ NEOPRENE SEAL,
ZINC.

2. Finish the pressure rib installation by capping the hardware holes with PAINTED
FINISHING PLUG 5/8 STEEL.

Instructions



Pressure ribs

Roof

Center pressure ribs to
overlap and secure two
panels

Roof panels to sit on
roof bows

-

ROOF INSTALLATION

1. Lift roof and lower it over installed post/columns. The roof has a 3-position installation
option, it can be centered, 6” forward position or 6” backward position. The position
desired will be achieved by aligning the roof mounting holes with the post mounting holes.
NOTE: as you lower the roof into place make sure to run your electrical cord down the
right side of the roof into the right post/column. Secure the roof using BOLT, 3/8-16 x 1"
HEX HEAD, STN STL, washer and locking washer (4 per post). Secure all bolts and well
as the post/column J Anchors.

Electrical out of roof’s right
side into post/column

Optional position mounting
holes

Right post with electrical
access towards rear

Instructions



Instructions

BENCH INSTALLATION

Electrical from roof into
right post/column

Optional position mounting
holes

Right post with electrical
access towards rear

Optional position mounting
holes

7




1. Install the support channel weldment. Place between post/columns and set at desire
height. Mark the hole locations and drill and tap for the attachment hardware, BOLT, 3/8-
16 x 1" HEX HEAD, STN STL., washer and locking washer (4 per support. Secure the
support channel post to weldment and proceed to install the bench.

2. The bench will attach to the support channel from the underside. Use SCREW, PAN
HEAD, TORX TAMPER-PROOF, 1/4-20 x 1" STN STL, washer and locking washer.

Support channel weldment

Support channel weldment

BOLT, 3/8-16 x 1" HEX
HEAD, STN STL.,

Post/column

Underside hardware
access for bench mounting

Instructions



Bench mounting points

Underside hardware
access for bench mounting

\ SCREW, PAN HEAD, TORX TAMPER-

PROOF, 1/4-20 x 1" STN STL,

Drill and tap on site for
desired height

SIGN INSTALLATION

1. Optional sign mounting bracket attaches to the right post/column using 3/8-16 X 3" HD
BOLT STN STL. washer, locking washer and nut.

2. The mounting bracket weldment attaches to the digital sign unit and then it gets mounted
to the sign mounting bracket using 3/8-16 X 3" HD BOLT STN STL, washer, locking
washer and nut. NOTE: run your electrical from the digital sign up into the sign bracket to
the post/column.

3/8-16 X 3" HD BOLT
STN STL

Sign mounting bracket

Mounting bracket

Electrical route

Instructions

Digital sign




PHILIPS

Brand Name | XITANIUM
Driver Type | Electronic
Input Voltage | 120
Input Frequency | 50/60Hz
Electrical Specifications RoHS | No
Approbations | UL, CSA
Status | Active
Operating Input Max.

Output Output Output Temp. Current Input Inrush Max. Min. Surge Envir.
Power Voltage Current Range at 120V Power Current THD Power Protection Weight | protection

(\4)) ) (A) (°F/°C) (A) w) (Auilus) (%) Factor (KV) (Lbs) Rating

_ - -40°~140°F UL Dry &
10 ~ 60 12 08~5.0 (-40~60°C) 0.63 75 20 0.99 2.5 1.4/635 Damp
Wiring Diagram Enclosure
INPUT OUTPUT
BLACK RED (POSITIVE)
(LINE) LED
 wame | DRIVER
(NEUTRAL) BLUE (NEGATIVE)
1

Input and output use lead-wires.
Lead-wires are 18AWG 105C/600V solid copper

Standard Lead Length

in. | cm.
Black | ¢ 22
White | 9 22
Blue | 26 | 66
Red | 26 | 66
Gray
Violet

Maximum Wiring Distance (at full load)

Wire Size (AWG) Distance (feet)

26 2

24 4

22 6

20 10
18 15
16 24
14 38
12 59
10 100

Revised 05/15/2012

in. (mm)
Case Length | 8.34 (211.8)
Case Width 1.76 (42.5)
Case Height 1.1 (27.9)
Mounting Length | 8.99 (228.4)
Mounting Width 1.22 (30.9)
Overall Length 9.45 (240)
Material, Color | Steel, White

Cm Us

.

H us
UL Class 2 7310_S-000
E220165 3426-32

PHILIPS LIGHTING ELECTRONICS N.A.
10275 WEST HIGGINS ROAD - ROSEMONT, IL 60018
Tel: 800-322-2086 - Fax: 888-423-1882 - www.philips.com/advance
Customer Support/Technical Service: 800-372-3331 - OEM Support: 866-915-5886




PHILIPS

ADVANCE

LED120A0012V50F

Brand Name | XITANIUM

Driver Type | Electronic

Input Voltage | 120

Input Frequency | 50/60Hz

RoHS | No

Approbations | UL, CSA

Status | Active

Installation & Application Notes:

Section | — Physical Characteristics

I.1
1.2

LED Driver shall be installed inside an electrical enclosure
Wiring inside electrical enclosure shall comply with 600V/105°C rating or higher.

Section Il — Performance

2.1 LED Driver is UL Class 2 power unit as per ULI310. It is also listed in the UL Sign Accessory Manual (UL SAM).
22 LED Driver is certified by UL for use in a dry or damp location (Outdoor Type ).

23 LED Driver has Class A sound rating.

24 LED Driver tolerates sustained open circuit and short circuit output conditions without damage.

25 LED Driver maximum allowable case temperature is 90°C — see product label for measurement location.

2.6 LED Driver shuts off output power to LEDs if its case temperature exceeds 90°C —thermal protection.

2.7 LED Driver complies with FCC rules and regulations, as per Title 47 CFR Part |5 Non-Consumer (Class A) for

EMI/RFI (conducted and radiated) at full load.

Section Il — UL Conditions of Acceptability (File E220165)

When installed in the end product, consideration shall be given to the following:

3.1 This component has been judged on the basis of the required spacings in the Standard for Class 2 Power Units, UL
1310, Fourth Edition, which would cover the component itself if submitted for Listing.

32 The supply terminals and connectors are suitable for factory wiring only of solid or tinned stranded No. 18 AWG
conductors.

33 The equipment was submitted and tested for a maximum manufacturer’s recommended ambient (Tmra) of 40°C.

34 Leakage current measurements shall be performed when more than four LED drivers are used in the equipment or
when the LED driver is used in combination with other equipment in the end-use product.

3.5 The drivers are intended for installation inside an electrical enclosure.

3.6 The ground connection is not suitable as the equipment ground for a sign. Separate provision for sign grounding
must be provided.

3.7 LED Driver is suitable for damp location use.

Revision History:

Rev No. Date Description Approval Remarks
1.1 01/17/2012 * Add Envir. Protection Rating N.T.
2.1 03/02/2012 *Modify Part #(Remove Dashes) N.T.
3.1 05/15/2012 * Add Approbations: UL, CSA N.T.

Revised 05/15/2012

Customer Support/Technical Service: 800-372-3331 - OEM Support: 866-915-5886

PHILIPS LIGHTING ELECTRONICS N.A.
10275 WEST HIGGINS ROAD - ROSEMONT, IL 60018
Tel: 800-322-2086 - Fax: 888-423-1882 - www.philips.com/advance




RFP 18-001

Attachment A-6: Electronic Signage Connection and Product Information (Mounting Hardware Diagram)

> ¥ "
- -
1 r
/@ i
w _E w
i O O
4 &
| ]
%
H i<+
3
a
H
—t
j
flogl 55 B~
Al 2|5 *x
| |a'| 98 |
2|m o)
g E ] 3
| B a2
3 § 5;
§g
- g -
o — o3
37| | |8
B |52
— #l 5
] A
> 4) ®

67



RFP 18-001

on

- Electronic Sign Connection and Product Informat

Attachment A-6

\|05> ENTRY
2-4

@)

&

ONC

/’ COOUNG FAN INLET

— ENCLOSURE MATERIAL: 125" THK 5052-H32 AL FORMED AND WELDED

SPECIFICATIONS:

— ENCLOSURE FINISH: POWER COAT, TIGER DRYLAC SERIES 38
— ENCLOSURE MOUNTING: TOP MOUNT/PIPE

— CHARACTER HEIGHT: 2—INCH ON 4 LINE CONFIG

— CHARACTER LENGTH: 22 CHARACTER ON 4 LINE CONFIG

— LED COLOR: AMBER

~ LED MATRIX:40 X 200

— ELECTRICAL REQUIREMENTS: 660 WATTS @ 120VAC/5.54

— DATA: ETHERNET (CAT 5 W/RJ45 CONNECTOR)

— WEIGHT: S0LBS

NOTES:

1. ALL DIMENSIONS ARE IN FEET AND INCHES

2. SUNRISE SYSTEMS IS NOT RESPONSIBLE FOR SIZING AND SUPPLYING OF SUPPORT STRUCTURE.

= 7 = =
» = = = - %" FEMALE NPT COUPLING
> (2) PLCS
‘ I
e} o el
= = =
A/C POWER ENTRY—
HINGED SERMICE DOOR
HELD CLOSED W/SECURITY LOCKS
& PP
i ED BY OTHERS
-2 ;i 8 \ COOLING FAN EXHAUST
200 PIXELS WIDE L B S—— i e -
- []1 -— — n— |
\ / |
/ \.\ _
7 \ \ /
(e \ _ / /
6 POELS TALL 3MM THICK LENS WITH MATTE FAINISH -2 /.,, \ / \..\
X /
Ny >
2 -
- -
& s
NA_.. / = | jl
i3 ® ° ° [} I~ P { e
T BeioR STATI— HOTON SENSOR
L— A/C TERMINAL STRIPS ol
VITH CIRCUIT PROTECTION T

SUNRISE
SYSTEMS, Inc.
PEVBROKE, MA 02358
SUBMITTAL APPROVAL
[ wweoe rox oovsmwcum
[ wsoies rox OovaTC YN 45 MRS
[ 4Ps00ED FoR OONSTRUCTON 45 MOED & SERGMT
[CONPANY.
SIGNED: DATE:
TNE:

PROVECT
CDP 40 SHOP DWG

MNE
DOUBLE SIDED TOP MOUN
e

i
rho ﬁ!

CDP40X200ADSOTM

D A

A 4

66



\{7 4

TOP VIEW
SCALEL/ B

NOTE:
HINGE ON THE LEFT
/ SIDE OF AD BOX DOORS

FRONT VIEW
SCALELP/B

/16 THX. CLEAR
: / TEMPERED GLASS

4578 X 667/8V.0.
\ 48 X 68 34 GRAPHIC SIZE

DWG. 6921-001

DOOR GUSSLT

WELUED AT CORNERS

‘OF BOTH DOOR OPENINGS

DETAIL B

SHOWN WITH DOOR REMOVED
SCALE1/4

DWG. 16571-00
AD BOX FRAME, BOTTOM

L.D. PERIMETIR:
LIGHTING

ISOMETRIC VIEW
SCALEL/8

ANCHOR KWIK BOLT T2
g /mmu 12,21

SIDE VIEW
SCALE1/ 8

X
SECTION A-A \
Tolar Manufacturing Company, Inc
SH?CELE ;Eru“l' Aot uate 258 barish Circlo, Gorons CAL 92670

MANATEE COUNTY.
&3
S 16413-00
=y O crerron? ==

2 T 1
TiVInventor\Ad Boxes\Hidden )inge DO Flot Ad Dox Assemblics\16413-00.idw



RFP 18-001

Attachment A-5: Bench Diagram

94 1/2 -

e 5

4
|

I :

345/16

=

A.O_LbLN. TOLAR MANUFACTURING COMPANY, INC

258 Mariah Circle, Corona CA. 82879

DESCRPTION

SAN LUIS OBISPO CUSTOM STRAP BENCH

CUSTOMERVENDCR

73

SAN LUIS OBISPO 1oel
3 MATL OWGNO. REV
B ALL STEEL 27578-01 _
o [™ ar142017 [P farr
4 | 1

Note: actual benches do not include RTA logo.

65



TVM-3 INSTALLATION DRAWING

+<—_
[

OPTIONAL HOOD AND ANTENNA |
7.00 MIN. WITH HOOD -~ 22 87—
6.00 MIN. W/O HOOD
0o
!
OPTIONAL
CELLULAR 16.62
30.00 ANTENNA O
| |
— — ®
- ~\ "] [ 3\;:,\
Z 400 MIN.—= |~ RN
| i :" BOTH < 4> NN
_ _ SIDES AN
: : 1350\—/
e I o ¢.875 KNOCKOUT
i I 71.85 FOR POWER AND
! 71.13 L )
| dl [k COMMUNICATION
; ol (]l gl L 2 PLACES
Z I Z/\—\/\ 30.00
| Iy 1.62 — 26.75
j il | < 13.38—~
: I : . . o P o
| I3 i R
1.73
| 1 w I | \—QS.875
| . R
| e I i D 18.13 15.00 (6) 13.00
- i | 6.01 | . .
i — —: — — I B o __° -
L + A a9 i © © © ]
.38 a——— 19,74 ———1=— (9 . 173 150 1.00
30.76 — 802 | 1.00 = 24.75
SECTION A-A

SHEET 1 OF 2




STEP 6: CLEAN THE THE LOWER BACK OF THE CABINET WITH CITRUS
BASED DEGREASER/CLEANER FOLLOWED BY AN ISOPROPYL
ALCOHOL SOLUTION. ALLOW TO DRY THOROUGHLY. TREAT SURFACE
WITH 3M ADHESION PROMOTOR 111. PLACE HOOD ASSEMBLY ON TOP
OF 3" SPACER. HOLD THE RIGHT EDGE OF HOOD AWAY FROM
CABINET SO THAT EXPOSED VHB TAPE DOES NOT CONTACT CABINET.
HOLD THE LEFT EDGE OF THE HOOD 1/4" AWAY FROM THE LEFT SIDE
OF THE TVM (AS VIEWED FROM BEHIND) AND SWING THE RIGHT EDGE
OF THE HOOD TOWARDS THE RIGHT SIDE OF THE BACK OF THE
CABINET SO THAT THE EXPOSED TAPE COMES IN CONTACT WITH THE
CABINET, ALL THE WHILE KEEPING THE HOOD ON THE 3" SPACER TO
MAINTAIN LEVELNESS. NOW PULL THE LEFT EDGE OF THE HOOD
AWAY FROM THE CABINET AND REMOVE THE REST OF THE RELEASE
LINER FROM RIGHT TO LEFT. SWING THE RIGHT EDGE OF THE HOOD
TOWARDS THE CABINET, AGAIN KEEPING THE HOOD LEVEL. PRESS
THE HOOD FLANGE AGAINST THE CABINET, APPLYING PRESSURE TO
THE TAPE FROM THE RIGHT TO THE LEFT. USE THE SAME ROLLER
TOOL FROM STEP 2 TO INSURE FULL CONTACT WITH THE TAPE TO
THE HOOD AND THE TVM CABINET, USING AT LEAST 15 PSI OF
PRESSURE AT ALL POINTS.

TVM-3 INSTALLATION DRAWING

OPTIONAL WET LOCATION

AIR INTAKE HOOD

STEP 2: CLEAN THIS SURFACE WITH/
ISOPROPYL ALCOHOL SOLUTION

STEP 3: APPLY VHB TAPE TO THE SURFACE
CLEANED IN STEP 2, REMOVING ONE LAYER
OF RELEASE LINER AS YOU MOVE AROUND
THE HOOD FLANGE. BUNCH TAPE IN
RADIUSED CORNERS. USE ROLLER TOOL
TO PRESS TAPE DOWN ONTO HOOD FLANGE,
USING 15 PSI PRESSURE. MAKE SURE THAT
TAPE IS FLAT IN THE RADIUSED CORNERS.
LEAVE RELEASE LINER ON OUTSIDE OF TAPE.

STEP 4: PLACE A 3" SPACER ON

GROUND ABOUT 2" AWAY FROM

THE BACK OF THE TVM CABINET.

REFERENCE: McMASTER-CARR

PART NO. 85095K84 (5 FT. LONG),
CUT TO HALF LENGTH

PLATE FROM THIS AREA OF THE
CABINET, USING A COLD CHISEL
OR SIMILAR TOOL, IF PRESENT.
START FROM THE BOTTOM EDGE
OF THE PLATE AND PRY UPWARDS.
USING A SCRAPER AND SOLVENT,
IF NECESSARY, TO REMOVE ANY
REMAINING TAPE SO THAT THE
SURFACE IS CLEAN AND SMOOTH.
IF TAPE IS HARDENED, A GRINDING
DISC MAY BE REQUIRED.

/STEP 1. REMOVE THE TRIANGULAR

| —STEP 5. REMOVE OUTER RELEASE
LINER FROM TAPE FROM THIS
END OF RADUIS DOWN TO
BOTTOM OF HOOD.

SHEET 2 OF 2




2.1 Select and Prepare Site

NOTICE: The TVM lll equipment must be mounted directly and permanently on a non-
combustible surface.

When choosing the TVM site, first review the machine's dimensions in Figure 2-1. The TVM
must be installed on a level floor surface capable of supporting a load of at least 20 pounds per
square inch. Shims may be used as necessary for level installation. It is recommended shimming
not exceed 172" height. Heights greater than recommended may be acceptable at a single point.
GFI will inspect locations proposed for TVM installation and advise the agency of any required
site modifications prior to installation. Customer is responsible for the indicated site
modifications and for providing power and data communications lines — GFI will make final
hookups unless other arrangements have been made. Position the TVM so that doors can open
fully, providing unimpeded access to the TVM interior. Before permanent installation is made,
try out the site by testing. To do so, move the TVM to the site and make sure the TVM door can
be opened with enough clearance for proper ventilation (minimum 6") as in Figure 2-3.

Although the TVM can be installed in any environment, GFI recommends an agency-provided
canopy or shelter in outdoor locations to protect customers and service personnel from the
elements. The TVM display has been designed to remain legible in bright sunlight. Nonetheless,
for optimal readability, it is advisable to position the TVM so that it faces north or south rather
than east or west to minimize glare.

TVM INSTALLATION SPECIFICATIONS & CLEARANCES

Item Specification

TVM dimensions 71" high x 31" wide x 20" deep (24" deep including washlight)
TVM weight 680-700 Ibs.

TVM floor load Floor must support 20 Ibs/sq. in. minimum

Door swing clearance 30" radius through 120°arc

Electrical 115 VAC 30A maximum electrical service.

Wiring to the TVM equipment shall be 3 conductors #10 awg or larger
depending on the length of the run. Recommended colors — black, white and

green.
Communications options Ethernet or other TCP/IP-based network via copper or fiber optic cabling
(preferred): cellular modem (agency must contract with cellular carrier).




GFI VENDSTAR 11l TICKET VENDING MACHINE

30 3/4 2312

711/8

]

Frgure 2-1. Vendstar I dimensions



1 2 YI7 3 4

The information disclosed herein includes proprietary rights of
GFI GENFARE. Neither this document nor the information 826923'0001 B
disclosed herein shall be reproduced or transferred to other
documents or used for manufacturing purposes or disclosed REVISION HISTORY
to others for any purpose except as specifically authorized "
in writing by GFI GENFARE. REV ECO APV'D DATE
ORIENTATION KEYED 29-012 GJB 01/26/09
BY CONNECTOR
( B 29-157 GJB 10/05/09
CONNECTION 29-195 GJB 12/09/09
ORIENTATION KEYED RX ||| TX
BY CONNECTOR INSIDE OF BOX
1
7/ OPTICAL

TO SC
CONNECTOR

I:I COMMUNICATION

FIBER PAIR

L] L

ON 10/100 DETERMINED BY 3
COPPER-FIBER I:I INSTALLER :
o
3
FIBER 3
TERMINATION FRONT VIEW OF BOX '(2
FIBER
BOX
CONNECTIONS TERMINAL
BLOCK
\ TVM
ENCLOSURE SCADA ALARM WIRES
V" N
O
O
ALARM
MEDIA
CONNECTIONS
CONTROLLER
zZ
BOARD i
@
o
10/100
COPPER-FIBER 1 /. \ /\ /\
DAUGHTER |
) TERMINAL
BOARD / l 3/8" X 16 NUT
sc BLOCK
™ RX — L~ WITH SPLIT LOCK WASHER
CONNECTOR
I f (FIBER OPTICS) AC LINE J kj kJ
ORIENTATION KEYED GND STUD CONNECTIONS %
. comecon SCADA /7 AC | S| Acume
TERMINAL E JUNCTION 2 g WIRES
BOX ] BOX T £
=2 o
FIBER OPTIC F= g
CABLE 6X6X4
CONCRETE
JUNCTION BOX
MOUNTING
PAD
/ \ 120 VAC 3 WIRE 10AWG
SCADA ALARM WIRES
IN CONDUIT
IN CONDUIT (2 WIRES)
STATION
FIBER OPTIC CABLE
GROUND
IN CONDUIT
WIRE PART NO. [ 1TEm ] DESCRIPTION [ NoTE
QUANTITY PER DASH NO. PARTS LIST
MATERIAL APPROVALS UNLESS OTHERWISE SPECIFIED
DRWN A.R. ENGR DIMENSIONS ARE IN INCHES / (mm) ] G E N FA R E
AND APPLY AFTER HEAT TREAT D
AND PLATING.
bATE 1/19/09 | oaTe AN SPX DIVISION
- - DO NOT SCALE DRAWING
CHK'D APVD TOLERANCES ON: EXNO. SCALE NONE
D26350- FINISH FRAC | 2PL DEC | 3PL DEC | ANGLE B
T DATE DATE +1/64 | +01 | +005 | +0-30 SHT. 1 ©oF 1
No. | NEXT Assy. USED ON THLE DWG NO.
APPLICATIONS INSTALLATION, TVM IIl - ELECTRICAL B26923-0001

1 > N 3 | 4




Today’s Service Station

The Fixit includes all the tools necessary to perform basic bike r

maintenance, from changing a flat to adjusting brakes and derailleurs. The
tools and air pump ar urely attached to the stand with stainless steel
cables and tamper-proof fasteners. Hanging the bike from the hanger arms

allows the pedals and wheels to spin freely while making adjustments.

Patents D680,914 S1and US 9,498,880 B2

DeRRRO

A P|AYCORE company

© 2018 Dero




Hanger arms accommodate
most types of bikes

QR code takes smart phone
users to comprehensive bike
repair web site

Large surface area for
sponsorship, branding, or
way-finding signage

Tools are secured with braided
stainless steel aircraft cables

[T

Optional pumps are available with
pump heads that accommodate
both Schrader and Presta valves

Galvanized Stainless

Hanger is ADA
compliant

Includes most
commonly used
tools for simple bike
maintenance

Screwdrivers and
Allen Wrenches are on
swivel connectors for
easier use

//)’//

Tools included:

Philips and flat head screwdrivers
2.5,3,4,5,6,8mm Allen wrenches
Headset wrench

Pedal wrench

8, 9,10, 1"Tmm box wrenches

Tire levers (2)

FINISH OPTIONS

Powder Coat

Black Light Gray Deep Red
RAL 7042 RAL 3003

Orange
RAL 2004

Light Green Green
RAL 6018 RAL 6016
Thermoplastic

www.dero.com | 1-888-337-6729 DeRO

A P|AYCORE company

© 2018 Dero



FIXIT

Submittal Sheet

CAPACITY

20"

Fixit with Air Kit 3

FINISHES
Fixit with Air Kit 2
| o |
127 =
e
T
Minimum Footprint MOUNT
OPTIONS

DeRRRO

A P|AYCORE company

MATERIALS

www.dero.com

© 2018 Dero

1Bike

Main body: 6”x 154" tube
Bike Hanger: 1.5” sch. 40 pipe, %" plate
Foot: 10” dia. x .25” plate
Tool tethers: 5/32” stainless steel cable
Manual air pump
Hand tools:
Philips and flat head screwdrivers
2.5,3,4, 5,6, 8mm Allen wrenches
Headset wrench
Pedal wrench
8, 9, 10, 1mm box wrenches
Tire levers (2)

Galvanized
An after fabrication hot dipped galvanized finish is our
standard option.

Powder Coat

Our powder coat finish assures a high level of adhesion and
durability by following these steps:

1. Sandblast

2. Epoxy primer electrostatically applied

3. Final thick TGIC polyester powder coat

Thermoplastic

In addition to an increased thickness (8-10mils), the
thermoplastic finish covers a galvanized layer and offers
superior impact resistance over powder coating.

Stainless

Stainless Steel: 304 grade stainless steel material finished in
either a high polished shine or a satin finish.

Surface
Has 10” diameter x.25” foot with four anchors per foot.

| 1-888-337-6729



FIXIT

Setbacks

An optional wheel catch

is available to hold bikes %
with no kick stands D)
o
/
1277
<
MDaeiRO www.dero.com | 1-888-337-6729

A P|AYCORE company

© 2018 Dero



FIXIT
Installation Instructions

TOOLS NEEDED RECOMMENDED BASE MATERIAL

Hammer drill Solid concrete is the best base material for installation. To ensure
3/8” masonry bit the proper anchors are shipped with your rack, ask your Dero Rack
Hammer representative which anchor is appropriate for your application.
Socket Wrench Be sure nothing is underneath the base material that could be
9/16” socket damaged by drilling.

112" socket

Tamper-proof socket (included)*
Socket extension, 6” min.

Be sure to save your tamper-resistant tools for any
future maintenance. They are costly to replace.

(G

s‘
. \@

. N
Reference the Fixit setback recommendations Hammer in the (4) wedge anchors. Leave at
and place the upright in the desired location. Use least 3/4” of an inch of exposed threads above
the base as a template and drill (4) 3/8” x 3" holes the Fixit base.

in the concrete with a hammer drill and masonry
bit. Clean up all concrete dust from drilling.

3 % 4

@ = Tamper-proof Nuts

(S = Standard Nuts g

o (| }®

e H

Decide which position the pump will be installed Insert the tool cables into the cable slot on the
in and place the bottom pump flange over the Fixit upright.

corresponding wedge anchor. Attach the top

pump flange to the Fixit upright with a carriage

bolt, washer, and tamper-proof nut. Tighten all

wedge anchors with washers and nuts.

Reserve one of the tamper-proof nuts to

secure the tools.

@) DeRRRO www.dero.com | 1-888-337-6729

A P|AYCORE company

© 2018 Dero



FIXIT
Installation Instructions

Tamper-proof nut

Place the bike hanger in the desired position on
top of the Fixit upright and attach with carriage
bolts, washers and nuts. Apply the tamper-proof
nut to center bolt to secure tools.

If you would like us to add your station
to our online map, email the station’s
geocoordinates to web@dero.com.
These coordinates can be obtained by
simply clicking a point on a Google Map.

httpo/Awww.dero.com/fixitmapfixitmap.htm/

4§ o

X 36 DEPTH 36,00 i
4.00
f
36.00
~—16.00— PAD 36” X 36" X 4
Pad recommendations for pouring along trail
DeeRO www.dero.com | 1-888-337-6729

A P|AYCORE company

© 2018 Dero



FIXIT

Maintenance and Replacement

NOTE:

All threads for all parts of the pump are right-hand threads. They tighten clockwise, and loosen counter-
clockwise (‘righty tighty, lefty loosey”). However, when you are looking top-town at a bolt that threads
from underneath, if you move it counter-clockwise from your point of view, you are actually tightening, not
loosening, the nut! This has led to some unnecessary breakage of pump parts. Be sure you are looking at the
nut with the proper orientation before tightening or loosening.

REMOVING THE AIR KIT FROM THE FIXIT

{

2 e

DeRRRO

A P|AYCORE company

1. Remove nut and bolt on
side of Fixit.

2. Remove tamperproof
nut on bottom of Fixit,
using the Tamperproof
Penta Tool supplied for this
purpose.

3. Once Airpump is
removed, but still in
sleeve, remove the 13/16”
nut on the bottom of the
sleeve (turning counter-
clockwise). You can now
slide the pump out.

CHANGING THE PUMPHEAD

Brass
Fitting

REPLACING TOOLS

replace tools.

© 2018 Dero

www.dero.com

Remove the shrinkwrap.
Unscrew the pumphead
from the brass fitting
(turning counter-
clockwise). You will need
to keep the brass fitting
for the new pumphead.
Replace the pumphead.
If you want to put on
shrinkwrap, then put

the shrinkwrap sleeve
over the hose before
replacing pumphead.
Once pumphead is on, pull
shrinkwrap sleeve over
the brass fitting and use a
heatgun to shrink it.

There are three bolts at the top of the Fixit. Underneath
are two 3/8” nuts, and one penta tamper-proof nut
(center bolt). These are all best removed with a socket
wrench, using the extension tool to enable you to reach
the nuts. Once the nuts are removed, take off the cap to

| 1-888-337-6729



www.PeakRacks.com

gam us
FRACKS

5-bike Capacity:
Campus Standard 82 Lbs
Rack with Plaque 102 Lbs

PEAI;""fﬁCKs

Rack with Plague Heavy Duty Base 108 Lbs

Specifications

Minimum Footprint with Bikes Inserted: 93" x 72"

Phone 805-235-8812

oRACKS..
B aques

(allows 12" on each side for handlebars)

10 48 —4 x @ 9/16

3 £ £ 72N £ T

[ - - L 22.5
195 28
l 1] Q — [ — [ ] ) e
68
A - A N
32
Materials Finish Installation

Hot rolled ASTM A36 solid steel

bars welded with GMAW (MIG).

Standard Base: 1/8" angle
Heavy Base: 3/16" angle
Wheel Holders: 1/2" diameter
Wheel Troughs: 1/8" angle
Locking Bars:  5/8" diameter

Standard finish is Hot
Dipped Galvanized for

superior durability.

Optional powder coat is

available with sand

blasting, primer, color

and clear coat (for
additional cost).

This rack is free standing and
can function without
mounting, however, it is
recommended that it be
secured on concrete with
four tamper-resistant
stainless steel anchors.
(available from Peak Racks)




CONTRACTOR TO REPLACE EXISTING TWO (0.5 HP) SUMP PUMPS COUNTY

@ EACH COURTHOUSE SUMP LOCATION WITH EQUIVALENT SPEC., ‘6 SAN LUIS
APPROVED PUMP PER COUNTY MAINTENANCE OBISPO
TN
]
|
|
| /02
J| M—2 PUBLIC WORKS
, DESIGN DIVISION
Architectural Services
County Government Center
CONTRACTOR TO INSTALL NEW 2" PVC CONDUIT Room 206
AND REPLACE EXISTING SUMP PUMP CONTROL San Luis Obispo, CA 93408

(805) 781-5252
www.slocounty.ca.gov
pwd@co.slo.ca.gov

CABINET. INSTALL NEW JUNCTION BOX FOR
PUMP AND FLOAT SWITCH WIRING. PROVIDE
NEW FLOAT SWITCHES AND TERMINATE WIRING
WITHIN JUNCTION BOX.

(E) PUBLIC WORKS
BASEMENT ROTUNDA

PALM STREET

Revision

County Facility (Code):

PTB01/02

Drawn By:

Checked By:

Client Approval:

Date: July 6, 2017

CONTRACTOR SHALL VERIFY ALL
DIMENSIONS AND ECISTING
CONDITIONS PRIOR TO COMMENCING
WORK. REPORT ANY DISCREPANCIES
TO COUNTY PROCECT COORDINATOR
OR TO THE PROLECT ARCHITECT.

CONTRACTOR TO INSTALL NEW 2" PVC CONDUIT
AND REPLACE EXISTING SUMP PUMP CONTROL
CABINET. INSTALL NEW JUNCTION BOX FOR PUMP
m AND FLOAT SWITCH WIRING. PROVIDE NEW FLOAT

M=13 SWITCHES AND TERMINATE WIRING WITHIN
JUNCTION BOX.

CONTRACTOR TO REPLACE EXISTING TWO (0.5 HP) SUMP PUMPS
@ EACH COURTHOUSE SUMP LOCATION WITH EQUIVALENT SPEC,,
APPROVED PUMP PER COUNTY MAINTENANCE

PUMP REPAIRS AND CONTROLS

Sheet Title:

COURTHOUSE COMPLEX SUMP
PARTIAL OLD COURTHOUSE
SITE SUMP PLAN

Project Title:

Sheet Number:

GENERAL NOTES:
01 \PARTIAL OLD COURTHOUSE SITE SUMP PLAN 1. REFERENCE PROVIDED AS-BUILT ELECTRICAL AND PLUMBING DRAWINGS, 1984 A-3

®1 /4" =1'-0" 4 of 13 Sheets Total
Project Number: 350104.39

Digital File:



AutoCAD SHX Text
01

AutoCAD SHX Text
M-2

AutoCAD SHX Text
02

AutoCAD SHX Text
M-2

AutoCAD SHX Text
11

AutoCAD SHX Text
M-13

AutoCAD SHX Text
01

AutoCAD SHX Text
A-3


= Montagq@
ATF™ (All Terrain Fence)

} & i

Typlgnl Steel

Fixe nel Shape

NOT THIS )

i Follows Unsightly
¥ Grades Up Stair-Step
i To 30" Rise Installation
E ng’ Run Leaves Gaps
} Without Gaps & Open Areas

Double-Punched Rails

NOT THIS =)

Oversized Rail
Holes Detract
From Strength &
Appearance

Montage®
ATF™™ Raked Panel

THIS

8 Smooth, Clean
B Appearance at
t Picket to Rail
E Intersection

ATF ™ Rakable All Terrain l-'ence
[

As an alternative to standard Montage® fixed vertical panel, the patent pending ATF™
(All Terrain Fence) panel design enables the maximum bias for all Montage”®styles. It is
the only welded steel fence with the capability to follow severe grade changes and it can
follow uneven ground contours like a second skin.

A
1 1~
s’
1
rabZd , -
] L 30" .
1-' L~ Montage |sthe only welded panel design
1] ’ that allows 3-Rail and extended picket
T

designs to follow severe slopes.

MAKE SURE THERE ARE NO GAPS

ATF™ Will Hug Your
Landscape

FACT!




GENESIS

3-Rail
Storage Facility

GENESIS
3-Rall With Quad-Flares
_ Between Brick Columns

The extended pickets of the Genesis form the
popular and attractive style that terminates with a
simple flat-top, effectively protecting the perimeter
without competing with landscape or architecture.

The Genesis name was coined for this panel
design because it acts as a foundation for creation
of multiple custom looks by the addition of

GENESIS
3-Rail With Triads
Apartment Complex

| GENESIS
,mn&n%m




cape,
ity

that adds
commun

al lands
ated
g

dwellin

auty

B A N D T T e A

inherent be

y residenti
ome, ag

y

LT N TR R T R

il

fam

ch to an
idual h
i-

ult

vle

i5 st
ive tou

Genes
corat
‘hether an indiv
or a series of m

The
a de
W

I'Ungl‘

Ve
el ]
Ra:
i
Z 35
G

K

ings

erimeter
3

VREY R

i’y

it

3-Rail With Quad
Neighborhaod P
t nearly

GENESIS
3-Rall With Trisds & Rin
Railroad Barrier

between the
le i

i

in two ways
wh
fence

ings
hoice i
ive look
of the

1s€ ¢

Is
hances the decorat

farow of r
doubles the strength

ion o
isaw

i

iti

top two ra

The add
en




ANN
HIGHLAN])

PRODUCTS GROUP LLC

MANUFACTURER'S QUALIFICATIONS

Highland Products maintains at all times a quality control program as herein outlines so as to
insure that all steel meets all requirments as specified under physical requirements. All

steel shall be manufactured by skilled workmen who have at least five years experience

in similar work.

MANUFACTURING

Welding - Structural welding shall conform to the requirments of AWS D1.1,
Structural Welding Code-Steel, 1998 Edition, published by the American Welding
Society.

Welding Process - Welding process shall conform to the recommended practices
and guidlines for Gas Metal Arc Welding listed in (AWS C5.6, Gas Metal Arc Welding,
Recommended Practices published by the American Welding Society).

All tolerances shall be within 1/8" of specified dimensions unless otherwise
specified.

MATERIALS

A36 Grade Steel, Pickling Process (Mill Scale Stripping). Permeated
Oil Bath, Tensile Strength 58000-80000 psi and Yield Strength 36000 psi.

PHYSICAL CHARACTERISTICS

Phosphate cleaned and coated per TT-C-490, then oven dryed. Powder Coat is
then applied to a thickness of 7-15 mils. Color is to be uniform throughout as
approved by owner or specifier in accordance with manufacturer's recommendation.

REQUIRED MATERIALS FOR APPROVAL

A. Shop drawings with dimensions, general contraction component parts, anchoring details
and installation.

B. Samples upon request of architects.

C. Complete dates on manufacturer's and technical information.

GROUND SPIKE

MODEL: 154-1045
WEIGHT: 175 LBS

3350 NW Boca Raton Blvd., Suite B2 Boca Raton, FL, 33431
Phone: 561.620.7878 Fax: 561.620.8668

48.7

6.0

~\

DETAIL A
SCALE1:6

gl




8/22/12017 2:59:54f

Tolar Manufacturing Company, Inc.

258 Mariah Circle, Corona, CA 92879 P: (951) 808 - 0081 | F: (951) 808 - 0041

PACKING LIST

Report Missing Items to Tolar Mfg. Customer Service within 48 Hours of Receipt

"TOLAR

DURAHILITY WITH DISTINCTION

Order Number 121318
Customer Code SANLUO03 179 Cross St., Suite A
Customer Name San Luis Obispo RTA San Luis Obi:CA 93401
QTY Ordered Part Number Part Description Color Verfication: By:
6.00 27578-01 94 1/2" SAN LUIS OBISPO CUSTOM STRAP BENCH
————————————————————————————— Com onents e i e e e s s e ex st e e D e m e o D e ei ot e o e o e D e e e e e e e =
P t Counted Checked
Part Number  Description QTY /Unit QTY Total Load By By Customer Received B
27578:00 . - |94 1/2* SAN LUIS OBISPO CUSTOM STRAPBENCH | 1.00 6.00 é ‘ .C 1)
[ Hardware __n—‘—_—'--————”——_——-_—_-———“—-~--<—~——-——""——~—~”__—.-_
Counted Checked Customer Ship
Part Number  Description QTY /Unit QTYTotal Load By By  Receivedby  Direct
8057425 ANCHOR, SUP-R-STUD 1/2" X 4-1/4 4.00 24.00 2;_{ ﬁ \/ @ O

QTY Ordered Part Number Part Description Color Verfication: By:
4.00 25030-121 32 GAL. STEEL STRAP TRASH CAN W/ DOOR

""""""""""""""" Components  —----------somomeme e ey Cresked
Part Number  Description QTY /Unit QTY Total Load By By Customer Received By
25554—00 STEEL STRAP Wl DOOR TRASH‘CA'N A‘SSY‘ : 1.00 4.00 H : C 'S /f& )

COMMENTS:

U.N.O. TOUCH UP PAINT REQUIREMENT IS

Report Missing ltems to Tolar Mfg. Customer Service within 48 Hours of Receipt
P: (951) 808 - 0081 | F: (951) 808 - 0041

customerservice@tolarmfg.com
REV. 09/15/2015 Page 10f2



Hardware

Counted Checked Cus}omer §mp_
Part Number  Description QTY /Unit QTY Total Load By By  Receivedby  Direct
1115010 RUBBER DRUM, 32 GAL; (VERIFY FIT) RUBBERMAID 1.00 4.00 /,f ﬂ (/ @ 0
8057425 ANCHOR, SUP-R-STUD 1/2" X 4-1/4 3.00 20 | y72_ |1V =) O
QTY Ordered Part Number Part_Description Color Verfication: Bv:
2.00 16413-00 FLAT LED ELEC. AD-BOX HIDDEN HINGE ASSY. W/ PEDESTAL
Components Counted Checked
Part Number Description QTY /Unit QTY Total Load By By Customer Received By
16413-00A  |FLAT AD BOX ASSEMBLY, HIDDEN HINGE W/ 1.00 2.00 '& / c Z;‘)
Hardware ]
Counted Checked Customer Ship
Part Number  Description QTY /Unit QTY Total Load By By  Receivedby  Direct
8027450 ANCHOR HILTI KWIK BOLT TZ 1/2" X 4-1/2" ZINC 4,00 8.00 9 ﬂ / o C’ 1
1106040 BIT, TORX T-27, TAMPER-PRUF 1.00 2.00 Z ﬂ ,(/ Z@ |
COMMENTS:
U.N.O. TOUCH UP PAINT REQUIREMENT IS
Report Missing Items to Tolar Mfg. Customer Service within 48 Hours of Receipt
P: (951) 808 - 0081 | F: (951) 808 - 0041
customerservice@tolarmfg.com
REV. 09/15/2015 Page 2 of 2



",
‘/ 10/10/2017 1:09:561

Tolar Manufacturing Company, Inc.

258 Mariah Circle, Corona, CA 92879 P: (951) 808 - 0081 | F:{(951) 808 - 0041

PACKING LIST

Report Missing Items to Tolar Mfg. Gustomer Service within 48 Hours of Receipt

“TOLAR™

DURARIITY WITH DISTIMNCTION

Order Number 12131A
Customer Code SANLUO1 Transit Authority
Customer Name San Luis Obispo Regional San Luis ObisCA 93401
QTY Ordered Part Number Part Description Color Verfication: By:
1.00 3008101 17" NONAD DOME VOYAGER

ToTrTmmme “A_ TroTTmmo T oo Components """""""""""""""""""""""""" é(;u"n’t'e'd‘ éh‘e'(‘:';e'a """""""""""" o
Part Number  Description QTY /Unit QTYTotal Load By BY  customer Received By
3082200 |17 VOYAGER ROOF ASSY. ‘ T 100 | 1.00 ] Jﬁ @ [FU| ' '
Jdorzqippb.yi PAINTED FINISHING PLUG, 5/8" STEELFLATTOP | 36,00 36.00 ?’é £ 4 y D) -
16841-00 * |ROOF PRESSURE RIB WITHBATTENALUM. | 600 | 600 | g I 0 ~ R RN
1687500 - 'ROOF PANELALUM. -~ = | 500 | 500 - < maml=0|
16874-00 Z GHANNEL EXTRUSION - o | 200 | 200 ! /g: (o Z@ Bedd
3053301 [POST ASSY. W/ ELECTRICAL ACCESS | 10 | oro0 | ] el
:3o5§o¢op_ POSTWELD SRR R S 2.00° 2.00 2_ ‘_&‘M%O
19603{00,1', BENCH SEATWELDMENT ARM RESTALUM ‘é,oo ] 200 | 2. : //% RS
’196;):"1;-‘00' - BENCH SEATWELDMENTALUM R ‘ ‘1.’00- ’ 1.00 ’ [ ; CE/ @
19655-00 SUPPORTCHANNELWELDMENTSTL e 100 1.00 | L

COMMENTS:

U.N.O. TOUCH UP PAINT REQUIREMENT IS

Report Missing Items to Tolar Mfg. Customer Service within 48 Hours of Receipt

P: (951) 808 - 0081 | F: (951) 808 - 0041

customerservice@tolarmfg.com
REV.\“()9/1 5/2015 Page 1of2



Hardware

Counted Checked Customer Ship

ooooOoOoOoooooon

Part Number  Description QTY /Unit QTYTotal Load By By  Beceivedby  Direct
1106040 BIT, TORX T-27, TAMPER-PRUF 1.00 1.00 | ﬂ \/ %
8013025 ANCHOR BOLT, J-HOOK, 1/2"-13 X 12", J-HOOK 12.00 1200 | 22819 '0 (/ %
8086115 BOLT, 3/8"-16 X 1", STAINLESS STL. 16.00 16.00 @ V] %
8155038 HEXNUT, 1/2"-13, STAINLESS STL. 12,00 12.00 Q Vv
8403100 MACHINE SCREW, 1/4"-20 X 1, BUTTON HD, TORX 12,00 1200 | ‘ yal ‘/'
8542075 SH. METAL SCREW, #8 X 3/4”, PAN HD, PHILLIPS 40.00 40.00 40 @ (/ %
8645125 TEK SCREW, #14 X 1-1/4", SELF TAP, FLANGE HD 36.00 3600 |2 é ﬂ ‘/ =9
8684053 FLAT WASHER, 1/4”, STN. STL. 12.00 12.00 /¢ 7) ‘/ ,%@
8685100 FLAT WASHER, 3/8", STAINLESS STL. 28.00 28.00 Zf ﬁ) V4 Z@
8685150 FLAT WASHER, 5/8", STAINLESS STL. 12.00 1200 | f77 /7), V4 %
8703049 LOCK WASHER, 1/4", STAINLESS STL. 12.00 1200 |/ 7/ ) ‘/' ‘%
8705068 LOCK WASHER, 3/8", STAINLESS STL. 28.00 28.00 gg’ /,') . \/ /ﬁ
COMMENTS:

U.N.O. TOUCH UP PAINT REQUIREMENT IS

Report Missing ltems to Tolar Mfg. Customer Service within 48 Hours of Receipt
P: (951) 808 - 0081 | F: (951) 808 - 0041
customerservice@tolarmfg.com

REV. 09/15/2015

Page 2 of 2



10/12/2017 9:21:36¢

Tolar Manufacturing Company, Inc.

258 Mariah Circle, Corona, CA 92879 p: (951) 808 - 008! | F: (951) 808 - 0041

PACKING LIST

| Report Missing Items to Tolar Mfg. Customer Service within 48 Hours of Receipt
Order Number 12131D

“TOLAR"

DURABILITY WAITH DISTINCTiON

Customer Code SANLUO3 179 Cross St., Suite A

Customer Name San Luis Obispo RTA San Luis ObisCA 93401

QTY Ordered Part Number Part Description Color Verfication: By:
1.00  30080-01  22'NONAD DOME VOYAGER

_______________________________ Components Counted Checked

Part Number  Description QTY/Unit QTYTotal Load By BY  customer Received By

30779:00 . |22'VOYAGER ROOF ASSY. , | 100 1.00 | w O_|\=zO ‘ -

’ifci;pz‘quefﬁ . 'PA‘:NT'ED‘#(NISHING PLUG 5/8" STEEL FLAT TOP. 42.00 42.00 L’Z_ i C%

1684100 |ROOF PRESSURE RIB WITH BATTENALUM. | 700 | 7.00 Z . =2

1962900 . |ROOFPANEL - [ 600 | 600 | 4 M EO

1963000 ZCHANNELEXTRUSION S | so0. | e00 6 _(L C, —7

30664-00 | POST WELDMENT LEFT, s o 100 | o0 | M.M%

{30667400 POSTWELD MID—RIGHT STL»~ s e g g L 100 [ | M ﬁﬁ

{,;36712,-‘()‘9' POSTWELD MID LEFT: STL. Lo ; 1.00 1.00 / o« M % :

~3‘;o,7s17¢; " |POSTASSY. WITH ELECTRICALACCESS B 1.00 1.00 1 . w

1965600 |SUPPORT CHANNELWELDMENTSTL. | 200 | 200 |9 (- /—/Q

30810-00  |EUROBENCHWITHV-BARASSY.72'. | 200 | -200 ) 6_2 7|

. Hardware Counted Checked Customer Ship.

Part Number  Description QTY /Unit QTYTotal Load By By  Recevedby  Direct

1106040 BIT, TORX T-27, TAMPER-PRUF 1.00 1.00 ﬁ ) [/ == |

8013025 ANCHOR BOLT, J-HOOK, 1/2"-13 X 12", J-HOOK 16.00 16.00 / A /) ,\/ ZZ O

8086115 BOLT, 3/8"-16 X 1", STAINLESS STL. 24.00 24.00 d)//tl ';’9‘ \ / %0 M

8155038 HEXNUT, 1/2"-13, STAINLESS STL. 16.00 16.00 ’7}5 ' /) l/ 1

8403100 MACHINE SCREW, 1/4"-20 X 1", BUTTON HD, TORX 25.00 25.00 ﬁ/ ﬁ ) ‘/ % O

COMMENTS:

U.N.O. TOUCH UP PAINT REQUIREMENT IS

Report Missing Items to Tolar Mfg. Customer Service within 48 Hours of Recetpt

P:(951) 808 - 0081 | F: (951) 808 - 0041

customerservice@tolarmfg.com
REV. 09/15/2015 Page 1 of 2



8542075 SH. METAL SCREW, #8 X 3/4", PAN HD, PHILLIPS 120.00 120.00 }ZO ﬁ, (/ D
8645125 TEK SCREW, #14 X 1-1/4", SELF TAP, FLANGE HD 42.00 42.00 k/% ﬂ ' '\/
8684053 FLAT WASHER, 1/4", STN. STL. 25.00 25.00 M

2514,
8685100 FLAT WASHER, 3/8", STAINLESS STL. 36.00 3600 |2 5 rQ—M-
8685150 FLAT WASHER, 5/8", STAINLESS STL. 16.00 16.00 [ /

V7 Va4
8703049 LOCK WASHER, 1/4°, STAINLESS STL. 25.00 2500 |70\ /). /
8705068 LOCK WASHER, 3/8", STAINLESS STL. 36.00 36.00 é

COMMENTS:

ooooOooo

U.N.O. TOUCH UP PAINT REQUIREMENT IS

Report Missing Items to Tolar Mfg. Customer Service within 48 Hours of Receipt
P: (951) 808 - 0081 | F: (951) 808 - 0041
customerservice@tolarmfg.com

REV. 09/15/2015

Page 2 of 2



10/11/2017 10:03:05

e Tolar Manufact?@g Company, Inc.

OURABILITY WITH BISTINCTION

258 Mariah Circle, Corona, CA 92879 P: (951) 808 - 0081 | F: (951) 808 - 0041

PACKING LIST

Report Missing Items to Tolar Mfg. Customer Service within 48 Hours of Receipt

Order Number 12131C
Customer Code SANLUO03 179 Cross St., Suite A
Customer Name San Luis Obispo RTA San Luis ObisCA 93401
QTY Ordered Part Number Part Description Color Verfication: By:
1.00 30080-00 22' NON AD DOME VOYAGER WITH SIGN BRACKET
------------ -----n-s----s-eeo Components Counted  Ghocked
Part Number  Description QTY/Unit QTYTotal Load By BY  Customer Received B
3077900 - |22' VOYAGER ROOF ASSY. | e | o100

1002010P PAINTED FINISHING PLUG, 5/8" STEELFLATTOP | 42,00 42.00 H Q f/

16841-00  |ROOF PRESSURE RIB WITH BATTEN ALUM. 7.00 7.00

| 1982900 ROOFPANEL o ‘ S 600 | 6.00 6 M A

1963000 ,ZCHANNELEXTRUSION S 600 | 600 ~ E
3065500 [SIGN BRACKET STL. - L | 100 100 | ﬁ? /‘
30660-00 | MOUNTING BRAGKETWELD.STL. -~ - = | =200 | ~200 | “2Z—fm \C “/ﬂ :
sosseo0  |posTwerovenTieFTSIL 0 | 1o | 10 [ [ [ oulze]
3066700 ~ |[POSTWELD.MIDRIGHT.STL. | 100 | ‘too [ , M %
30712:00 | POST WELD. MID LEFT.STL. S 100 | " 100 { ﬁ!ﬁ:M Z2|
'39731}‘06‘_ POSTASSY WITH ELECTRICALACCESS , 1.00 1.00. / . M %0 R
;19655;00' SUPPQRVTA’QHANNE_LW’E‘LDMENTSTL;, 200 200 2 / C % T
308@:00 gUE{o,BENCH WITH V-BARASSY. 72" 2.00 200 | 2. /‘Ol/ > |
" o Hardware Counted Checked Customer Ship
Part Number  Description QTY /Unit QIY Total Load By Received by~ Direct

1106040 BIT, TORX T-27, TAMPER-PRUF 1.00 “1.00 I

By
KV v~ 0

8013025  |ANCHOR BOLT, J-HOOK, 1/213 X 12", J-HOOK 16.00 1600 | f /ﬂ il t\/' % 0
\ O

hd t
8086115 BOLT, 3/8™16 X 1", STAINLESS STL. 24.00 2400 |9 44 | P

COMMENTS:

U.N.O. TOUCH UP PAINT REQUIREMENT IS

Report Missing ltems to Tolar Mfg. Customer Service within 48 Hours of Receipt
P: (951) 808 - 0081 | F: (951) 808 - 0041

customerservice@tolarmfg.com
REV. 09/15/2015 Page 10f2



8086302 BOLT, 3/8"-16 X 3", STAINLESS STL. 12.00 20 | 9 AV | = O
8155032 HEXNUT, 3/8"-16, STN. STL. 12,00 2w |2 |01/ |\=Z2 O
8155038 HEXNUT, 1/2"-13, STAINLESS STL. 16.00 1600 |/ 6 NV Zv@ O
8403100 MACHINE SCREW, 1/4"-20 X 1", BUTTON HD, TORX 25.00 2500 ) & 7. V| Z O
8542075 SH. METAL SCREW, #8 X 3/4", PAN HD, PHILLIPS 12000 |  120.00 7/.;:@ n. (/ ' % g
8645125 TEK SCREW, #14 X 1-1/4", SELF TAP, FLANGE HD 42.00 42.00 /_7 9. ﬁ* \/ % O
8684053 FLAT WASHER, 1/4", STN. STL. 25.00 2500 |9 & | )./ =, O
8685100 FLAT WASHER, 3/8", STAINLESS STL. 36.00 36.00 | 2 é ;_0 ] / % O
8685150 FLAT WASHER, 5/8", STAINLESS STL. 16.00 1600 | / 5 yaNV4 %ﬁ O
8703049 LOCK WASHER, 1/4", STAINLESS STL. 25.00 2500 | 7267 22 M = O
8705068 LOCK WASHER, 3/8", STAINLESS STL. 36.00 36.00 Zg NV 2 |
COMMENTS:

U.N.O. TOUCH UP PAINT REQUIREMENT IS

Report Missing Items to Tolar Mfg. Customer Service within 48 Hours of Receipt

P: (951) 808 - 0081 | F: (951) 808 - 0041

customerservice@tolarmfg.com
REV. 09/15/2015 @tolarmig Page 2 of 2



10/10/2017 11:53:33,

Tolar Manufacturing Company, Inc.

258 Mariah Circle, Corona, CA 92879 P: (951) 808 - 0081 | F: (951) 808 - 0041

PACKING LIST

Report Missing ltems to Tolar Mfg. Customer Service within 48 Hours of Receipt

“TOLAR ™

DURABILITY WITH DISTINCUION

QOrder Number 12131
Customer Code SANLUOS 179 Cross St., Suite A
Customer Name San Luis Obispo RTA San Luis ObisCA 93401
QTY Ordered Part Number Part Description ‘ Color Verﬁqation: By:
1.00  30081-00  17'NONAD DOME VOYAGER WITH SIGN BRACKET ) -
""""""""""""""""""""""" Components Counted Checked
Part Number  Deseription QTY/Unit QTYTotal Load By By customer Received B
13082200 |17'VOYAGER ROOF ASSY. - 1.00 1.00 l o Q, 70 | R
1002010P - | PAINTED FINISHING PLUG, 5/8" STEEL FLAT TOP 36.00 36.00 % . C D
16841:00 . ' | ROOF PRESSURE RIB WITH BATTEN ALUM. 6.00 6.00 C 0% ‘
1687500 - | ROOF PANEL ALUM. - ‘ | 500 5.00 : A
16874-00  '|Z CHANNEL EXTRUSION : 2.00 2,00 -
30655-00  -|SIGNBRACKETSTL. = 1.00 1.00
30660-00 . |MOUNTING BRACKET WELD. sTL. ] 200 2.00
13053300 |POST ASSY. W/ ELECTRICALACCESS . 100 | 100
30560-00 ~ [POSTWELD. = | 200 2.00
19603-00 - '|BENCH SEAT WELDMENT - ARMRESTALUM. - | 200 2.00
19604-00 - | BENCH SEAT WELDMENT ALUM. : 1.00 1.00
1965500+ |SUPPORT CHANNEL WELDMENT STL. t00 | 100
B Hardware T T T T
Counted Checked Customer Ship_
Part Number  Description QTY /Unit QTYTotal Load By By  Receivedby  Direct
1106040 BIT, TORX T-27, TAMPER-PRUF 1.00 1.00 ﬂ [/ T O
» ( e,
8013025 ANCHOR BOLT, J-HOOK, 1/2°-13 X 12, J-HOOK 12.00 1200 | |7 , M % 0
Pl
8086115 BOLT, 3/8"-16 X 1", STAINLESS STL. 16.00 16.00 é ﬂ / / O
/ y -\ ‘V///‘
8086302 BOLT, 3/8™-16 X 3", STAINLESS STL. 12.00 1200 | [\ 1] AS % O

COMMENTS:

U.N.O. TOUCH UP PAINT REQUIREMENT IS

Report Missing ltems to Tolar Mfg. Customer Service within 48 Hours of Receipt
P: (951) 808 - 0081 | F: (951) 808 - 0041

customerservice@tolarmfg.com



8155032 |HEXNUT, 3/8"16, STN. STL. 12.00 20 |z~ [ W |2 0
8155038 |HEXNUT, 1/2-13, STAINLESS STL. 12,00 200 () | N v ) 1
8403100 |MACHINE SCREW, 1/4"-20 X 1", BUTTON HD, TORX | 12,00 1200 | )77 @ vV % O
8542075 |SH. METAL SCREW, #8 X 3/4", PAN HD, PHILLIPS 4000 | 4000 |29 A1) \/ 22 O
8645125  |TEK SCREW, #14 X 1-1/4", SELF TAP, FLANGE HD 3600 |  36.00 /5‘ 6 ' N %& O
8684053 FLAT WASHER, 1/4", STN. STL. 12.00 12.00 ')7/ D -/ % 0
8685100  |FLAT WASHER, 3/8", STAINLESS STL. 2800 |  28.00 Zg IRV =27 O
8685150 |FLAT WASHER, 5/8", STAINLESS STL. 12.00 1200 | 7 ,ﬁ) v/ i /vﬁ 0
8703049 |LOCK WASHER, 1/4", STAINLESS STL. 12.00 1200 | 12 10/ O
8705068 |LOCK WASHER, 3/8", STAINLESS STL. 20 | 2800 |22 [0 \/ == 0
COMMENTS:

U.N.O. TOUCH UP PAINT REQUIREMENT IS

Report Missing ltems to Tolar Mfg. Customer Service within 48 Hours of Receipt

P:(951) 808 - 0081 | F: (951) 808 - 0041

customerservice@tolarmfg.com
REV. 09/15/2015 @ 9 Page 20f 2



BID SCHEDULE/BID FORM - REVISED

SAN LUIS OBISPO REGIONAL TRANSIT AUTHORITY
San Luis Obispo County, California

REGIONAL TRANSIT AUTHORITY TRANSIT CENTER

Item | Description Unit | Quantity Unit Total Cost
Cost (Figures)
(Figures)

1 TRAFFIC CONTROL LS 1

2 WATER POLLUTION CONTROL LS 1

3 MOBILIZATION, CLEAN UP AND DEMOB LS 1
SITE CLEARING, DEMOLITION AND
EARTHWORK

4 EXCAVATION (EXPORT) cYy 70

5 CONCRETE REMOVAL (SIDEWALK) SF 145

5A DEMOLITION AND REMOVAL OF EXISTING LS 1
STRUCTURES
SITE WORK/FACILITIES

6 CONCRETE SIDEWALK (4" THICK) SF 1,620

7 SHELTER FOOTINGS EA 14

8 INSTALL 22 FT SHELTER EA 2

9 INSTALL 17 FT SHELTER EA 2

10 INSTALL BENCH EA 4

11 INSTALL 2-SIDED KIOSK EA 2

12 INSTALL TICKET VENDING MACHINE LS 1

13 INSTALL LED "NEXT-BUS" SIGN EA 2

14 INSTALL BIKE RACK EA 2

15 INSTALL BIKE REPAIR STATION LS 1

16 INSTALL TRASH RECEPTACLE EA 4

17 6 FT FENCE WITH GATE LF 20

18 MISSION TILE LF 81

19 6" CURB LF 120
ELECTRICAL/COMMUNICATIONS

20 SITE ELECTRICAL/COMM LS 1
LANDSCAPE PLANTING

21 TREE EA 1

22 RETROFIT IRRIGATION SF 2,800

23 SHRUB PLANTING EA 45

24 BARK MULCH SF 165

25 TURF (SOD) SF 950

26 BEND-A-BOARD LF 45

27 TREE GUARD EA 1
MISCELLANEOUS

28 CONSTRUCTION STAKING LS 1

TOTAL BASE BID

8355

Bid Schedule/Bid Form




Total Base Bid Amount in Words:

Signature of Bidder: Date:

The undersigned agrees to perform, for the benefit of the OWNER, the work itemized herein, and in
accordance with all San Luis Obispo County, State, and Federal laws.

All materials and equipment used in the execution of the described work shall comply with all
applicable State and Federal codes, regulations and requirements.

The Contractor shall verify all measurements and submit a unit price for the facilities shown above.
Payment will be made on a unit price basis.

The Work to be performed described in the above BID SCHEDULE shall consist of furnishing all
plant, tools equipment, materials, supplies, and manufactured articles and furnishing all labor,
transportation, and services, including fuel, power, water, and essential communications, and
performing all Work, or other operations required for the fulfillment of the Contract in strict
accordance with the Contract Documents.

The quantities of work or material stated in the Unit Price Items of the Bid Schedule are supplied
only to give an indication of the general scope of the work; the OWNER does not expressly or by
implication agree that the actual amount of work or material will correspond therewith, and reserves
the right after award to increase or decrease the amount of any Unit Price Item of the work by an
amount up to and including 25 percent of any Bid Item, without a change in the Unit Price, and shall
have the right to delete any Bid Item in its entirety, or to add additional Bid Items up to and including
an aggregate total amount not to exceed 25 percent of the Contract Price.

The receipt of the following addenda to the Specifications is acknowledged:

Addendum No. Date Addendum No. Date

Addendum No. Date Addendum No. Date

The representations made herein are made under penalty of perjury.

Dated: Bidder:

By:

Contractor's License No. & Expiration Date:

Title:

END OF BID SCHEDULE/BID FORM

8355 2 Bid Schedule/Bid Form



LICENSE AGREEMENT

THIS LICENSE AGREEMENT is entered into between the County of San Luis Obispo, a
political subdivision of the State of California (County), and San Luis Obispo Regional Transit
Authority, a joint powers agency in the State of California (SLORTA), and will replace and supersede
all previous agreements between County and SLORTA, with respect to the Premises hereinafter
described.

WHEREAS, County owns real property located at 1050 Monterey Street, 1035 Palm Street,
and 976 Osos Street in the City of San Luis Obispo, described as APN 002-324-010 (Exhibit “A"), more
commonly known as the San Luis Obispo County Government Center {(Government Center); and

WHEREAS, On October 8, 1996, the County Board of Supervisors authorized and granted
SLORTA, under a written Use Permit For Passenger Waiting Shelters (Use Permit), the exclusive and
conditional use of 720 square feet of land located on the corner of Palm Street and Osos Street at
the Government Center (the Premises) to construct, install, operate and maintain one covered
passenger waiting shelter, four benches and bicycle racks; and

WHEREAS, SLORTA now desires to enhance and expand the Premises to create a multi-
maodal Transit Center (Transit Center) and will obtain all required regulatory permits and
entitlements to construct, maintain, and operate the Transit Center at the Premises, as defined in
Paragraphs 9 and 10 below, and for no other use; and

WHEREAS, SLORTA and County desire to terminate the Use Permit and concurrently enter
into a license agreement {License Agreement) with the County for a twenty-five (25) year term with
the right and option to negotiate an additional twenty-five (25) year term relating to the Premises;
and

WHEREAS, in accordance with California Government Code section 25526.5, the County may
license or permit for use any real property of the county to a public agency in the manner and upon
the terms and conditions as the board determines, upon a finding that the conveyance is in the
public interest and that the land conveyed will not substantially conflict or interfere with the use of
the property by the county; and

WHEREAS, it is in the best interest of the public for the County and SLORTA to enter into a
License Agreement to provide an enhanced and expanded Transit Center; and

WHEREAS, the County, through its Real Property Services division, is in agreement with the

above terms.

Page 1 of 25



NOW THEREFORE, in consideration of the mutual covenants and agreements herein
contained, the County and SLORTA (the Parties) agree as follows:

1. Incorporation of Recitals: The recitals set forth above, and all defined terms set
forth in such recitals and in the introductory paragraph preceding the recitals, are hereby
incorporated into this License Agreement as if set forth in full.

2. Grant and Description of Premises: County, for and in consideration of the
promises contained herein, grants to SLORTA the nonexclusive right and privilege to use the
Premises, as identified on the Site Plan (Exhibit “B") and consisting of approximately 1,885 square
foot of real property at the Government Center, for the purpose of expanding, enhancing, operating
and maintaining the Transit Center,

3. Condition of Premises: The use of the Premises by SLORTA shall, in itself,
constitute acknowledgment that the Premises is in good and tenantable condition. SLORTA agrees
to accept the Premises in its existing condition, “as is,” with no repairs, warranties or reports
provided by County. County shall not be obligated to make any alterations, additions or betterment
thereto,

4. Term: The Term of this License Agreement commences upon full execution of the
License Agreement, with the County being the last party to sign {the Commencement Date) and shall
expire twenty-five (25) years from the Commencement Date (Initial Term}, with an option to extend
as described in Paragraph 5 below.

5. Mutual Option to Extend: Within six (6) months prior to the expiration date of the
Initial Term of the License Agreement, and with the mutual written consent of the Central Services
Director, or Director's designee {Director) and SLORTA, SLORTA may notify the County, in writing, of
its desire to extend the term of the License Agreement for an additional twenty-five (25) year period
{Extended Term). The right of SLORTA to negotiate with County any extension of this License
Agreement pursuant to this paragraph is subject to the satisfaction of the following conditions
precedent:

a. The License Agreement shall be in effect and SLORTA shall not be in default
at the time written notice is given and on the last day of the expiring Initial Term of the License
Agreement;

b. SLORTA shall not have incurred or received more than one written notice of

default under the License Agreement during the then current License Agreement Term;

Page 2 of 25



C. All parties must accept the terms and conditions of the Extended Term in
writing prior to any effective extension. If the term of this License Agreement is not extended as
provided in this Paragraph, this License Agreement and SLORTA's right of possession shall terminate
at the end of the Initial Term.

6. License Fee: Consideration for issuance of this License Agreement shall be
SLORTA's satisfactory performance of the construction specified in Paragraph 8 below, and the
operation, maintenance and repair of the Premises to County’s standards or better in lieu of
County’s obligation to do the same and is deemed to be adequate compensation for this License
Agreement. County has the right to enter and inspect the Transit Center and direct SLORTA to do
specific operations and maintenance of the Transit Center by a specified date.

SLORTA shall maintain such records and accounts as the County Auditor-Controller
may require. The County shall have the right through its representative, and at all reasonable times,
to inspect such books and records; and SLORTA hereby agrees that all such records and instruments
are available to the County.

County further reserves the right to examine all such books and records at any time
during a one (1} year period following the termination of this License Agreement.

7. Surrender: Except for modifications to be retained for the benefit of County, at
County’s discretion, as determined at the time of termination of this License Agreement, SLORTA
shall surrender the use of the Premises unto County on the last day of the Initial Term, or any
Extended Term, or sooner termination of this License Agreement in the same condition as when
received at the sole cost and expense of SLORTA, reasonable use and wear excepted,

8. Use of Premises and Obligation to Canstruct and Operate Transit Center:

a. As partial consideration for the County entering into this License Agreement,
SLORTA hereby agrees to construct the Transit Center as described in this Paragraph, Paragraph 9
and as shown on Exhibit “B” {collectively, the "Project.”). The Premises shall be used by SLORTA for
the construction, installation, maintenance and operation of the Transit Center only and no other
use shall be approved without the prior written approval of the Director.

The Project will include the design, construction and replacement of two (2)
existing passenger shelters with four (4) passenger shelters with larger roof covers. The passenger
shelters will feature low voltage lighting that will provide better late-night and early-morning lighting
installed beneath the shelter canopies to avoid light pollution in the surrounding area. All exterior

lighting shall be consistent with the City of San Luis Obispo’s (“City") Zoning Regulations.

Page 3 of 25



The Project will include additional transit-grade benches with backs and
armrests.

SLORTA will install and maintain an electronic ticket vending machine that
will allow 24/7 access to both SLORTA and SLO Transit fare media. SLORTA will install and maintain
two (2) LED "next-bus” real time bus information signs under two of the passenger shelter canopies.
SLORTA will replace the single backlit three-sided information kiosk with two (2) double-sided backlit
kiosks.

SLORTA will replace the existing bike racks with new and higher-capacity
Peak Bike Racks that are preapproved by the City and install a Dero Fixit bike tool station. The bike
parking and bike tool station shall not impede any walkway or any ingress or egress to any building
located at the Government Center,

SLORTA will remove the existing street tree located on Palm Street with a
City-approved tree species and will be planted per City engineering standards.

SLORTA will expand the area at the Premises which surrounds the
passenger shelters by replacing approximately 1,165 square feet of existing lawn with a design that
conforms architecturally to the area surrounding the clock tower located at the corner of Monterey
Street and Osos Street, including construction and placement of planters behind the passenger
shelters.

b. SLORTA's use of the Premises shall at all times be in compliance with all laws
including, but not limited to, federal and state Constitutions, federal and state statutes,
implementing regulations, local ordinances and agency rulings whether or not these laws are
enacted or promulgated as urgency measures under police powers or for health and safety reasons
whether currently existing, amended or new enactments, SLORTA expressly agrees at all times
during the term of this License Agreement including any extensions or renewals, at its own cost and
expense, to maintain and operate the Premises and areas adjacent, in a clean, safe, wholesome and
sanitary condition, free of trash, garbage or obstruction of any kind, and in compliance with any and
all present and future laws, rules or regulations of any governmental authority, now or at any time
during the term of this License Agreement in force, relating to sanitation or public health, safety or
welfare.

c. SLORTA shall be solely responsible for providing all services, equipment,
supplies, and personnel for the construction, administration, staffing, operation, maintenance and

repair of Transit Center at the Premises. SLORTA shall comply with all labor laws and tax laws.

Page 4 of 25



Any and all improvements, alterations, or additions, whether major or minor to be
undertaken, shall be administered as directed in Paragraph 11 below.

9, Utility Improvements: Utility services may be extended from existing resources
and all utility services will be separately metered. Said separate meters and utility services will be
extended for SLORTA's use and installed by SLORTA at SLORTA's sole cost and expense. The utility
portion of the Project will involve trenching to access power and Internet connections inside the
County Public Works building for the various electronic equipment to be installed.

SLORTA will contact Underground Service Alert (USA), a State agency, to facilitate the
marking of the Premises where underground utility lines reside (electrical, gas, water, fiber-optic
cables, etc.). SLORTA will avoid underground utilities, as indicated by USA markings, when
performing any improvements at the Premises.

SLORTA agrees to work with the County to coordinate the installation and/or
extension of such utilities on the Premises as to minimize any destruction and/or disruption to the
Government Center, which contains critical infrastructure areas. SLORTA will provide at least ten (10)
business days to County to allow for review and coordination of said extension.

10. Ownership of Improvements: Title to improvements on the Premises at the License
Agreement Commencement Date is retained by the County. This License Agreement is subject to
any rights of ownership in the improvements. The ownership of the Transit Center, and any and all
additional alterations, additions and approved improvements constructed by SLORTA, if any, shall
remain in SLORTA until expiration, or sooner termination, of the Initial Term, including any Extended
Term, of this License Agreement.

Upon termination of this License Agreement, all alterations, additions and improvements
made in, to or on the Premises shall, without compensation to SLORTA, become County property
free and clear of all claims to or against them by SLORTA or any third person, and SLORTA shall
defend and indemnify the County against all liability and loss arising from such claims or from the
County's exercise of the rights conferred by this paragraph. The Transit Center and any and all
additional improvements shall remain upon and be surrendered as a part of the Premises; provided
however, upon County's request, SLORTA shall remove those additions, alterations, signs or
improvements as may be specified by County, and repair and restore the Premises to a condition
satisfactory to the County at SLORTA's sole cost and expense prior to expiration of the License
Agreement term. Should SLORTA fail to remove or dispose of the property as herein provided,

County may, at its election, consider such property abandoned or may dispose of same at SLORTA's

Page 5 of 25



expense, and SLORTA shall reimburse County for said expense on demand. Also, at the expiration or
earlier termination of this License Agreement, SLORTA shall quit and surrender the Premises
including real property improvements in a good state of repair, damage by matters over which
SLORTA has no control excepted, provided that such exculpatory provisions shall not extend to any
risk which SLORTA is required to insure against as provided herein.

1. Capital Improvements: Any and all improvements, alterations, or additions,
including the improvements specified in Paragraph 8 and 9 above, whether major or minor, to be
undertaken hereunder shall be administered as follows:

a. SLORTA agrees to submit to the Director for review and approval, all plans
including specifications, working drawings, and other information required by the Director, covering
the improvement or proposed project. Said plans shall be submitted to the Director for the
Director’s approval at least fourteen (14) days in advance of submittal to the City of San Luis Obispo
and/or any other regulatory agency having jurisdiction over the Project. Additionally, if any of the
improvements for the Transit Center require a licensed contractor, SLORTA shall submit verification
of the appropriate California licensure, registration with the Department of Industrial Relations, and
verification of sufficient insurance and bonding of the licensed contractor. If the Director, objects to
all or any portion of the proposed plans, the Director shall state the objections specifically, and
SLORTA shall make the changes specified and resubmit the plans as revised for the Director’s
approval as herein provided.

No improvement or alteration shall be made to the Premises, or any portion
thereof, without the submission to and prior written authorization and approval of any proposed
plans by the Director. Such improvements or alterations include, but are not limited to, any and all
proposed improvements or alterations to the number and location of bus layover bays located at
Osos Street and/or Palm Street, including the removal of any existing designated metered vehicle
parking spaces located on Palm Street located between Santa Rosa Avenue and Osos Street. The
Parties hereto agree that SLORTA's operations shall not obstruct or impede ingress and egress to
the entrance of the Government Center or access to the yellow-marked Commercial Loading zone
located on Palm Street. Approval and authorization by the Director shall not be unreasonably
withheld. Nothing contained herein shall be construed by SLORTA to be a waiver by the Director of
SLORTA's need to acquire building and construction permits including, but not limited to, required
permits from the City of San Luis Obispo, the County Environmental Health Department, and other

applicable licenses or approvals through governmental processes. The approval of any plans by the

Page 6 of 25



Director shall constitute an action of the County in its proprietary capacity only and shall in no way
excuse SLORTA from complying with any laws, rules, regulations, and ordinances regarding the
development and use of the Premises. Further, no approval by the Director shall limit the exercise of
discretion in the review process by any City or County officer, board, or commission, or the County
Board of Supervisors.

b. Upon issuance of a building permit from the City of San Luis Obispo, SLORTA
shall deliver to County the Final Construction Drawings approved by the City.

c. Upon completion of construction of the Transit Center and issuance of a
Notice of Completion by the City of San Luis Obispo, SLORTA shall deliver to County the Final Plans
approved by the City.

d. Director shall have the right to perform a final inspection of the Premises and
if it is determined that the Premises is in compliance with the aforementioned terms and conditions,
the Director shall issue a written statement of compliance acknowledging completion of the Project
consistent with the terms of this License Agreement. Nothing herein shall be construed to be a
waiver by the Director of SLORTA's need to cbtain final inspections and approvals from other
required entities. SLORTA shall protect the Premises from any lien or charges whatsoever, by reason
of said capital improvements. Any improvements shall comply with current prevailing wage laws, as
applicable. SLORTA shall be solely liable for said compliance and shall defend and indemnify County
against any claim to the contrary.

e. SLORTA shall be required to follow all applicable federal guidelines on
performance security to ensure the improvements are constructed pursuant to any approved
design, and SLORTA shall be required to name the County on any bond required to be obtained
pursuant to any and all Federal Transit Administration requirements. In the event legal action is
required to enforce performance, SLORTA will pay to County its reasonable attorney’s fees and costs
as determined by a court of law.

12, Signs: SLORTA, at its sole cost and expense, subject to prior written approval by
Director may place signs on the Premises. Signs shall conform to any and all sign ordinances of the
City of San Luis Obispo.

13. SELORTA's Personal Property: Title to all personal property, moveable furniture, and
movable equipment provided by SLORTA will remain in SLORTA ownership. Furniture and
equipment affixed to the real property in any way will be considered a capital improvement and will

be subject to the terms of Paragraph 9 above, Upon the removal of personal property by SLORTA,

Page 7 of 25



whether such removal is upon termination of this License Agreement or at any time prior thereto,
SLORTA will repair all damage to the Premises caused by the addition or removal of such property.
County will not be obligated to repair, restore, refurbish, or otherwise incur any expense regarding
personal property of SLORTA. If SLORTA elects to attach personal property to the Premises that
SLORTA does not wish to be considered a capital improvement, a written request to exclude this
personal property from capital improvements will be submitted to Director for written approval
prior to installation of the personal property.

14. Equipment and Fixtures: County shall not be obligated to repair, restore, refurbish,
or otherwise incur any expense in improving and/or changing the condition of the equipment,
fixtures, furnishings, inventory, or other personal property of SLORTA.

15. Title: SLORTA hereby acknowledges that fee title to the Premises is vested in the
County and hereby covenants and agrees never to challenge, contest or resist said title. SLORTA may
not acquire any right to the Premises by adverse possession or otherwise. The parties agree that
the County is not transferring a leasehold interest in the Premises to SLORTA by virtue of this
License Agreement.

16. County’s Personal Property: County shall retain title to all County's personal
property at the Premises and SLORTA will maintain said personal property during the term of this
License Agreement. Any improvements hereafter added by County, at County’s expense, will remain
the personal property of County.

17. Utility Expenses: SLORTA shall pay, during the term of this License Agreement and
any extensions or renewals thereof, all charges for utility services used on the Premises, including
but not be limited to, water, sewer, trash, electric, gas, internet and telephone.

18. Utility Conservation: SLORTA will not waste electricity or water and agrees to
cooperate fully with the County to assure the most effective and economical use of utility services
provided to the Premises.

19. J]anitorial: SLORTA shall be solely responsible for complete janitorial services and
the furnishing of janitorial supplies to the Premises including rubbish and trash removal, and
sweeping/cleaning of the Premises.

20, Maintenance and Repairs: SLORTA will be responsible for all costs of operations,
maintenance and repairs to the Premises and any and all improvemenits, alterations and additions,
including, but not limited to, landscaping, fencing, lighting (exterior and interior), electrical, gas,

plumbing, heating and air conditioning, roofing, paint, windows, doors, landscaping, and asphalt. If

Page 8 of 25



within fifteen (15) days of written notification by County, SLORTA fails or neglects to commence
maintenance and/or repair obligations as requested by County, County may, at its option, perform
such necessary maintenance and/or repairs and bill SLORTA for actual cost of said maintenance.
SLORTA shall promptly reimburse County upon County's written request.

In the event of an emergency, County may take action on the Premises as may be
required for the protection of persons or property, and SLORTA will reimburse County for County’s
reasonable expenses related to the emergency action. SLORTA shall, at ali times and at SLORTA's
expense, do all things reasonably necessary to protect the Premises used by SLORTA. SLORTA shall
not grant, with respect to the Premises, easements, rights-of-way, licenses or permits,

21, Safety: SLORTA will immediately correct any unsafe condition of the Premises as
well as any unsafe practices occurring thereon. SLORTA will obtain emergency medical care for any
member of the public who is in need thereof because of illness or injury. SLORTA will operate the
Premises in a manner to protect the health, safety, and welfare of the general public. SLORTA
agrees to take all reasonable precautions to protect the Premises frorn damage, theft, vandalism
and other such hazards.

22, Employees of SLORTA: All employees, agents, assignees and sub-lessees of SLORTA
will be appropriately licensed when required by law. All such employees, agents, assignees and sub-
lessees will be employees, agents, or assignees of SLORTA only and will not in any instance be, or be
construed to be, employees, agents, or assignees of the County.

23. Smoke Free Workplace: SLORTA shall comply with and observe any and all
applicable statutes, ordinances, rules and regulations, including, those of the federal, state,
municipal, County or other public authority regulating smoking on the Premises, including those
statutes, ordinances, rules and regulations appiying to buildings or structures owned, leased or
otherwise operated by the County to conduct County business. Notwithstanding any smoking
prohibition set forth by County ordinance, SLORTA may request written approval of a designated
smoking area by the County Public Health Officer, if permitted by law or statute.

24, Drug Free Workplace: SLORTA and its employees will comply with all laws related to
a drug free workplace. Neither SLORTA nor its employees will unlawfully manufacture, distribute,
dispense, possess, or use controlled substances, including but not limited to marijuana, heroin,
cocaine, methamphetamine, or amphetamines at any of SLORTA's facilities or County’s facilities or

work sites,

Page 9 of 25



25, lllegal Harassment Warranty: SLORTA has a duty and obligation to fully train its
employees regarding behavior prohibited by law that constitutes any illega! harassment, including
but not limited to, discriminatory harassment, sexual harassment and gender harassment.

26.  SLORTA's Responsibility for Compliance: SLORTA shall at all times observe and
comply with, and shall cause all his agents, employees and sublessors to observe and comply with
all present and future laws, statutes, ordinances, regulations, rules, resolutions, or other binding
enactments of any governmental authority, now or at any time during the term of this License
Agreement and any extensions thereof. If any future laws, rules, regulations, or ordinances are
passed by the County of San Luis Obispo and said legislative enactment has any impact fiscal or
otherwise on SLORTA, and if SLORTA does not make a timely objection to County during course of
legislative process, SLORTA will be deemed to have waived any right to object at a later time and
waives al damages flowing therefrom. SLORTA shall and does hereby assume responsibility for
payment of any and all licenses applicable to SLORTA's operation on the Premises.

27. Non-Discrimination: SLORTA shall not discriminate against any person or class of
persons in violation of the Civil Rights Act of 1964 as amended or any other applicable laws
prohibiting discrimination in the use of the Premises.

28, Americans With Disabilities Act: SLORTA shall be responsible for new construction
and any alterations to the Premises which are necessary to comply with the Americans With
Disabilities Act of 1990, 42 U.S.C. sect. 12101 et seq., as currently enacted and in accordance with
applicable laws.

29. Public Records: Any and all written information submitted to and/or obtained by
County from SLORTA or any other person or entity having to do with or related to this License
Agreement and/or the Premises, either pursuant to this License Agreement or otherwise, at the
option of County, may be treated as a public record open to inspection by the public pursuant to the
California Records Act {Government Cade Section 6250 et seq.), as now in force or hereafter
amended, or any Act in substitution thereof, or otherwise made available to the public and SLORTA
hereby waives, for itself, its agents, employees, subtenants, and any person claiming by, through or
under SLORTA, any right or claim that any such information is not public record or that the same is
trade secret or confidential information and hereby agrees to indemnify and hold harmless from
any and all claims, demands, liabilities, and/or obligations arising out of or resulting from a claim by
SLORTA or any third party that such information is a trade secret, or confidential, or not subject to

inspection by the public, including without limitation reasonable attorneys’ fees and costs.

Page 10 of 25



30. Business Hours: It is understood and agreed that the hours of SLORTA's business
operations shall be defined in SLORTA's permit with the City. If required by the City or another
governmental/regulatory agency, SLORTA shall propose idle reduction strategies, air pollution
control strategies, and noise-reduction techniques in its permit that will go into effect at the time the
permit is executed in order to reduce noise and/or pollution impacts.

31. Indemnification: To the fullest extent permitted by law, SLORTA shall indemnify,
defend, and hold harmless the County and its officers, agents, employees, and volunteers from and
against all claims, demands, damages, liabilities, loss, costs, and expense (including attorney’s fees
and costs of litigation) of every nature arising out of or in connection with SLORTA’s performance or
attempted performance of any obligation or duty provided for or relating to this License Agreement
and/or the Premises, except such loss or damage which was caused by sole negligence or willful
misconduct of the County. It is the intent of the parties to provide the County the fullest
indemnification, defense, and hold harmless rights allowed under the law. If any word(s) continued
herein are deemed by a court to be in contravention of applicable law, said word(s) shall be severed
from this License Agreement and the remaining language shall be given full force and effect.

32, Insurance:  SLORTA shall obtain and maintain for the entire term of the License
Agreement and SLORTA shall not perform any work under this License Agreement until after
SLORTA has obtained insurance complying with the provisions of this paragraph. Said policies shall
be issued by companies authorized to do business in the State of California. SLORTA shall maintain
said insurance in force at all times. The following coverage with the following features shall be
provided:

a. Commercial Liability Insurance: SLORTA shall maintain in full force and
effect for the period covered by this License Agreement, commercial liability insurance. This
insurance shall include, but shall not be limited to, comprehensive general and automobile liability
insurance providing protection against claims arising from bodily and personal injury, including
death resulting therefrom, and damage to property resulting from any act or occurrence arising out
of SLORTA's operations in the performance of this License Agreement, including, without limitation,
acts involving vehicles. The policy shall be in the form of Insurance Services Office (1I50) Form CG 00
01 covering commercial general liability on an “occurrence” basis for bodily injury and property
damage, personal injury and advertising injury, with limits no less than $2,000,000 per occurrence,

If a general aggregate limit applies, either the general aggregate limit shall apply separately to this

Page 11 of 25



location or the general aggregate limit shall be twice the required occurrence limit. The following
endorsements must be attached to the policy:
i If the insurance policy covers on an "accident” basis, it must be
changed to "occurrence”.
il The policy must cover personal injury as well as bodily injury.
ii. Blanket Contractual liability must be afforded and the policy must
contain a cross liability or severability of interest endorsement.

b. Workers' Compensation Insurance: In accordance with the provisions of
sections 3700 et seq. of the California Labor Code, if SLORTA has any employees, SLORTA is required
to be insured against liability for workers' compensation or to undertake self-insurance. SLORTA
agrees to comply with such provisions before commencing the performance of this License
Agreement.

c. Primary Coverage. For any claims related to this License Agreement,
SLORTA's insurance coverage shall be primary insurance as respect to the County, its officers,
officials, employees, and volunteers. Any insurance or self-insurance maintained by the County, its
officers, officials, employees, or volunteers shall be excess of the SLORTA's insurance and shall not
contribute with it.

d. Notice of Cancellation. Each insurance policy required above shall provide
that coverage shall not be canceled, except with notice to the County.

e, Waiver of Subrogation. SLORTA hereby grants to County a waiver of any
right to subrogation which any insurer of said SLORTA may acquire against the County by virtue of
the payment of any loss under such insurance. SLORTA agrees to obtain any endorsement that may
be necessary to affect this waiver of subrogation, but this provision applies regardless of whether or
not the County has received a waiver of subrogation endorsement from the insurer.

f. Additional Insureds to Be Covered: The commercial general liability
policies shall name “County of San Luis Obispo, its officers and employees” as additional insureds.
The policy shall provide that the SLORTA's insurance will eperate as primary insurance and that no
other insurance maintained by the County, or additional insureds will be called upon to contribute
to aloss hereunder,

g Certification of Coverage: Within fifteen (15) calendar days of the first day

of the commencement date of this License Agreement, SLORTA shall furnish County with the

Page 12 of 25



following for each insurance policy required to be maintained by this License Agreement, and
annually thereafter:

i. A copy of the Certificate of Insurance shall be provided. The
certificate of insurance must include a certification that the policy will not be canceled or reduced in
coverage or changed in any other material aspect without thirty (30) days prior written notice to the
County.

ii. A Workers' Compensation certificate of insurance must be provided.

i Upon written request by the County, the SLORTA shall provide a copy
of the complete insurance policy.

iv. Approval of Insurance by County shall not relieve or decrease the
extent to which the SLORTA may be held responsible for payment of damages resulting from
SLORTA's services or operations pursuant to this License Agreement. Further, County's act of
acceptance of an insurance policy does not waive or relieve SLORTA's obligations to provide the
insurance coverage required by the specific written provisions of this License Agreement.

33. Effect of Failure or Refusal: If SLORTA fails or refuses to procure or maintain the
insurance required by this License Agreement, or fails or refuses to furnish County with the
certifications required by subparagraph G above, County shall have the right, at its option, to
forthwith terminate the License Agreement for cause.

34,  Taxes: As a qualified joint powers agency, the County Assessor's Office has
determined that SLORTA shall not be liable for possessory interest taxes or personal property taxes.

35. Notices: Any notice required to be given pursuant to the terms and provisions
hereof shall be in writing and shall be sent by certified or registered mail as follows:

To the SLORTA at;
San Luis Obispo Regional Transit Authority
Attn: Geoff Straw, Executive Director
179 Cross Street
San Luis Obispo, CA 93401

To the County at: County of San Luis Obispo
Attn: Real Property Manager
Central Services Department
1087 Santa Rosa Street
San Luis Cbispo, CA 93408

Page 13 of 25



The address to which the notices may be mailed as aforesaid by either party may be
changed by written notice given by such party to the other as herein before provided, but nothing
herein contained shall preclude the giving of any such notice by personal service.

36. Termination and Breach: If any of the following occur, the Director shall have the
right to terminate this License Agreement effective immediately for cause upon giving written notice
to SLORTA:

a, SLORTA faiis to perform its duties to the satisfaction of the Director including
the accumulation of multiple less-significant instances of failure to perform in accordance with this
License Agreement; or

b. SLORTA fails to fulfill in a timely and professional manner its legal and
contractual obligations under this License Agreement.

At the discretion of the Director, SLORTA may be allowed ten (10) days after receiving
written notice to correct any breach hereunder. Failure to correct the breach will result in immediate
possession of the Premises. The exercise of the remedies provided for in this section shall be
cumulative and in no way affect or replace other remedies available to the County.

37. Waiver of Claim: SLORTA hereby unconditionally waives any claim against the
County, its officers, agents or employees for damage or loss caused by any suit during the term of
this License Agreement or in the future. Any action, proceeding or claim, directly or indirectly,
attacking the validity of this License Agreement, or any part thereof, shall be the sole responsibility
and liability of SLORTA,.

38. Limitation of Actions: SLORTA shall have no other legal or equitable rights,
entitlements or interests other than those expressly stated in this License Agreement. This will apply
regardless of any information exchanged or representations made by County staff or others during
negotiations, prior to execution, or after execution. No representation by County staff shall be
binding unless said provision is in writing and signed by the Board of Supervisors prior to the
effective date.

39, Lost Revenue: If the Premises are closed for any reason including, but not limited
to, war, armed conflict, public emergency, public nuisance, calamity, fire, earthquake, flood, act of
God, strike, or similar act which shall prevent performance of this License Agreement in accordance
with the rights and privileges granted herein, County shall not be liable to SLORTA for any lost
revenues, If SLORTA's business is interrupted, the County shall not be liable to SLORTA for any lost

Page 14 of 25



revenues or claims against SLORTA from third parties including, but not limited, to SLORTA's
employees,

40. Eminent Domain: If the whole of the Premises shall be taken or condemned by any
competent authority under power of eminent domain for a public or quasi-public use or purpose,
then the license given shall cease and terminate as of the date actual physical possession of the
Premises is taken by the condemnor. All compensation and damages awarded for such total taking
shall belong to and be the sole property of County.  In the event that there shall be partial taking
of the Premises during the term of this License Agreement under the power of eminent domain, this
License Agreement shall terminate as to that the portion of the Premises so taken on the date when
actual physical possession of said portion is taken by the condemnor, but this License Agreement
shall at County's option, continue in force and effect. The compensation and damages for such
partial taking shall belong to and be sole property of County. .

41. Destruction of Premises: Should any matter or condition beyond the control of the
parties hereto, such as war, public emergency, or calamity, fire, earthquake, flood, act of God, strike,
or any other labor disturbance prevent performance of this License Agreement in accordance with
the rights and privileges granted herein, this License Agreement shall immediately be terminated
and the County shall be under no abligation to SLORTA by reason of said matter or condition.

Should any aforementioned matter or condition create eligibility for Federal, State or
any other governmental jurisdictional relief assistance and/or aid, both parties agree to take all
reasonable steps necessary to procure such assistance and/or aid, in their respective capacities at
the time of such application.

42, Hazardous Waste: SLORTA shall at all times and in all respects comply with all
federal, state and local laws, ordinances and regulations (Hazardous Materials Laws) relating to
industrial hygiene, environmental protection, or the use, analysis, generation, manufacture, storage,
disposal or transportation of any oil, fuels, gasoline, flammable explosives, asbestos, UREA
formaldehyde, radicactive materials or waste, or other hazardous, toxic, contaminated or polluting
materials, substances or wastes, including, without limitation, any “hazardous substances,”
“Hazardous wastes,” “hazardous materials” or "TOXIC SUBSTANCES" under such laws, ordinance or
regulations (collectively Hazardous Materials). SLORTA shall, except in the event of County’s sole
negligence, indemnify, defend, protect and hold County, each of County’s offices, directors,
employees, agents, attorneys, successors and assigns, free and harmless from and against any and

all claims, liabilities, penalties, forfeitures, losses or expenses or death of or injury to any person or

Page 15 of 25



damage to any property whatsoever, arising from or caused in whole or in part, directly or indirectly
by: (a} the presence in, on, under or about the Premises or discharge in or from the Premises of any
Hazardous Materials or SLORTA's use, analysis, storage, transportation, disposal, release, threatened
release, discharge or generation of Hazardous Materials, to, in, on, under, or about or from the
Premises, or (b} SLORTA's failure to comply with any Hazardous Materials law. SLORTA's or County's
obligations hereunder shall include, without limitation, and whether foreseeable or unforeseeable,
all costs of any required or necessary repair, clean-up, or detoxification or decontamination of the
Premises, and the preparation and implementation of any closure, remedial action or other
required plans in connection therewith caused by SLORTA and County and shall survive the
expiration or earlier termination of the term of this License Agreement. For purposes of the release
and indemnity provisions hereof, any acts or omissions of County, or by employees, agents,
assignees, lessors, or sublessors of County or others acting for or on behalf of County (whether or
not they are negligent, intentional, willful or unlawful) shall be strictly attributable to County.

43, Storm Water Control Plan and Storm Water Management: SLORTA shall adhere
to the requirements of the Storm Water General Permit (Permit) issued to the County of San Luis
Obispo by the State Water Resources Control Board {State Board) that governs stormwater and non-
stormwater discharges pertaining to the Premises. Activities performed on the Premises shall
conform to the Permit, and SLORTA shall adhere to all current and future requirements established
by the State Board for the County. Further, SLORTA shall be responsible for developing a new
Stormwater Pollution Prevention Plan (SWPPP) including a Spill Respanse Plan that is acceptable to
County and the City of San Luis Obispo, for SLORTA's use of the Premises. SLORTA shall complete
and submit to the County by July 15 of each year, an annual inspection report (Exhibit “C"). In order
to verify compliance with the measures in the Permit and the information in the annual report, the
SLORTA shall allow the County to inspect the Premises up to twice annually and will cooperate with
County to correct any violations to the Permit and fulfilling the reporting requirements to the State
Board. Failure to correct any violation and/or cooperate with the County in fulfilling these
requirements will be deemed a failure of performance as defined in section 37 of this agreement.

44, Severabhility: The invalidity of any provision of this License Agreement shali not
affect the validity, enforceability of any other provisions of this License Agreement.

45, Law: This License Agreement has been executed and delivered in the State of
California and the validity, enforceability and interpretation of any of the clauses of this License

Agreement shall be determined and governed by the laws of the State of California.

Page 16 of 25



46. Venue: San Luis Obispo County shall be the venue for any action or proceeding that

may be brought or arise out of, in connection with or by reason of this License Agreement.

47, Authority to Execute this License Agreement Any individual executing this
License Agreement on behalf of SLORTA represents and warrants that he/she is duly authorized to
execute and deliver this License Agreement on behalf of the SLORTA, and that this License
Agreement is binding upon SLORTA in accordance with its terms.

48, Waiver of License Agreement Terms: No waiver by either party at any time of any
of the terms, conditions or covenants of this License Agreement shall be deemed as a waiver at any
time thereafter of that same or of any other terms, condition or covenant herein contained, nor of
the strict and prompt performance thereof. No delay, failure or omission of County to re-enter the
Premises or to exercise any right, power or privilege or option arising from any default, nor any
subsequent acceptance of rent than or thereafter accursed shall impair any such right, power or
privilege or option or be construed as a waiver of such default or a relinquishment of any right or
acquiescence therein. No notice to SLORTA shall be required to restore or revive after the waiver by
County of any default. No option, right, power, remedy or privilege of County shall be construed as
being exhausted by the exercise thereof in one or more instances. The rights, powers, options and
remedies given to County by this License Agreement shall be deemed cumulative,

49. Assignment of License Agreement: SLORTA will not assign, transfer, or delegate
this License Agreement or any interest therein. Any attempt by SLORTA to transfer this License
Agreement will terminate it.

50. Entire Agreement and Modifications: This License Agreement and the attached
Exhibits herein made a part of this License Agreement by reference, embodies the whole License
Agreement between the parties hereto as it pertains to the subject real property and there are no
promised terms, conditions, or obligations referring to the subject matter hereof, other than as
contained herein. Any alterations, changes or modifications to this License Agreement must be in

writing and executed by both SLORTA and County.

Fr10017101177 1 INOTHING FURTHER EXCEPT SIGNATURES PASTTHIS POINT /7471711711117

Page 17 of 25



IN WITNESS WHEREOF, the parties hereto have executed this License Agreement this

day of 2017.

COUNTY OF SAN LUIS OBISPO

By:

Chairperson of the Board of Supervisors

APPROVED BY THE BOARD OF SUPERVISORS

This day of , 2017

ATTEST:

Clerk of the Board of Supervisors

APPROVED AS TO FORM AND LEGAL EFFECT:

RITA L. NEAL
County Cqunsel

o WY j//d W

Deputy County Counsel

Date: // %/7

SAN LUIS OBISPO REGIONAL TRANSIT
AUTHORITY

By: C@Z<:§‘L<&C:>

Geoff Straw, l:Jx\é]cutive Director

Date: \\—2- =T

Page 18 of 25



EXHIBIT "A"
COUNTY GOVERNMENT CENTER

Z€, 30vd_200 ¥oos AW SIS0QHNd ININSSISSY |m-pr-c0

YO 'DdSE0 S¥17_NYS H04 O3yvaind © dvR S8

40 AINNGD oY 550553557

OdS/g0 SINT NYS 40 AUD

_\m.v/ “
L S — _ || |
1s " :
v 8BNS STIVONQAGMN 7 1o A AJHILNON
| b -_.“.n W .. or M N Tt ! T - -
3 o g , | »
] z [ H g =
8 : | uu . R & g
”e_mtm ...n:!. @ m vulm.u ._o...h,vit 1 B o
- - Liend S ] 'r\ it .|w H i..“III||I}\ mmw
¥ @. 0 ‘e e 2 ' _ .@ ; gl
. i rnrar O TR i |
: _n-w@ . &
¥ N P = T - !
m m N : AMVHEIT
l_ - uvlru - Zerorem
722\ " : n_>=._mm,m & _v/
N e i g O
il (o 0L0-PZE-Z00 NAY R ) R
| — ; 181Ua@) JuUsaWulan0n ! i S3SINTYd 2Yd
el V100 X ’ ks g y il | ! " B
wl* .H S k-4 321440 1 TIVH ALID 018
k- & _.--d 2,400 ;
; @ @@ @ .

3 rerce| 2! 1e|oe'ez| 0z 210z,
@@ o - ajgal 1 1 ]
1
|
g
|
1
i
)

m 5 “ﬂ "
! ; E 0 2
f ?fM
o 1430/
o9

3 1,A09) 7
o9 o . #Z
Iﬁbm..l G e e —
@ NOISIAIGENS mzuk.ﬂﬂﬂ@ @D 1w s

ANAV

Page 19 of 25




EXHIBIT "B"

SITE PLAN

LIRS s

g - [ g

1S REE(TLEN

B 102 WAWSAGE) V| 3

Page 20 of 25



EXHIBIT "C"

:aquosep ‘sek )] y/ND ONO SBAD 10GUosep '58k JI VNI ONDY S8AD

LSEHmEW josuoa ds jo pasn ay} u) peujes ApeinBal jsuuosiad a1y Anoeitos pue ApsenBa) pasmolio} sijds 10 sarnpososd dnuesio sy

:Bquosop 'sak Ji  WND SN[ S3AM 2SUCHIEI0] JUIUSAUCD «5qUo5IP ‘SAA §] WINDI ON[D SPAD ZIIBANO pojeio) 19jemuisols

u) pug ays uo jday spePdlew dnueald pus JuawuEuo |ds oyeudoidde asy -ucu Suypnjsuy ‘uonsadsu) jo s ey je soBisyasip Aue 210y) a1y

anquosep 'sof §| :equasep 'sel §|

VIND OND S2AD dwes) asucdses pue uopuasad [pds e 250M1 51 | WND OND SSAD Luopoadsuy 35e) 813 8UIS POND30 Sobi1eyISIp Aue aneH

:89qUIosap '8k ) WND ONDO SPAD aquosap ‘'safl )|

¢Asupyoew _Eu «:uEn__.,__uo woy) sdjIp pue SB3| JO FIUDPIAR DU} S| ¥/NO__oNO mo>_u $S)ea) pue u___am Jo Aio)siyy 2]u0Jyd e 2194 S|
uopeIOjU] JUSWaBEUR 12IEMULIOIS IS .

amnjesedwal FEITs ] 3]

spupauBiHo Bumousm Bodp  IsAIS D wedm  ApnoidpD  JeRID O
Zuopjaadsu) S Jo sulp ie 1aYIEam

uoneuLIoju] JOYIeaps -

ONDl S9AL  1edJe 2ARISUDS AJIRJUDLILOIIAUS 10 APOq 1918 {p}eoe v o3 Juade(pe Jo Apsonp obiseyasip KIIde) oI Se0q LM Buiameday o) Anuprodd

sealy Bupped |ejol ey Bujpiing |egol ERIY OUS (E30L
UDAD WICIS-IS0d D MaAs uoys Buung
uaAd wiols-aid 0 aausuauepyy lembay O :uopsadsuj jo adA L :auoyd 2 (s)ojl '{slowen s 0)aadsu)
iuopoadsu jo ageg :NdV 8 9po2 Ayipeg unod
uopdasaq 10 uopeso] Ayjiaed :swey Aoed

UOREWLIO] [EJAUDS

1ioday uonoadsul 9)iS ANIoeS JSEMWIOIS

Page 21 of 25



OND S2AD 9

OND saA0 G

SN0 A0 ¥

OND SoAD £

OND SeAD) F/

OND S3AD) 3

- Zsueniod | (WWSql AEp/ieB = 'Xo)
: 2l : .| ejesouny) 03 Ainii Kavenbaigfipuend - SEEGE

:S0l0N PUE PIPDISN LUORIY SARDSMOD | [BLDIEN PII0YS S| jeoidAL | :apsuQ porols EuelE
LPalonuoo Apadad (Buusiemap

S0 PD €0 26 LO | oNOS3AD | wiND ONCISBAD | Jalem  ysem] sabseyosip JojemwioisuUol an | 6
2JOADI J3pUN Jo SPISU PAJ0IS SllieULEuod

Sh vO €0 Z0 L0 | oNDSeAD | V/AND ONR S9A0) | Jolesuuols  eruaiod  2ue jey) sjeusiew ay | g
Za91sAWND PaIaAcd

S0 PO €0 20 t0 | ONOSPAD | Y/NC ONQ S3AD | Ul Paoeld pue pajoajjon Sewe Hiom o) Joyysed | | L
<PaUlEIBw pue payiewl Ajea|o “aqejiese

SO b0 £0 20 LG | oNO S2AD | viND oND soAD | (S1emouco ‘ooonys ‘wuied) sanoe) jnoysem k| 9
4198115 &1 ol paoeq Bujsq

¢o v0 €0 20 Lo | oND seAn | viNDG onp SeAD | woy juawipes Bujuassud uxe uononiisuco ay si| S
£ Sysodap jualuipas
fue j0 281 sisem Buwwasa pue sod afiieyosp

SN PO SO 20 L0 | ONGOSIAD | winr oNp) soan | eue pue pajaoxd Ausdosd siaju ulep wios v | b
ZPouRRIEW
pue (slensans o) pafey) pajeisul Asjenbape

N bM €0 20 LA | onnseAn | wiND oD SeAn | sveweq wawpas pue  spquod Jagawpad any | €
LS.dNE Jauie
10 Uiy 'siaureq ypm paleeioxd (919 'saan aanpw

e +D €0 2O b0 | oNDSaAD | WND ONEI $9AD | 'SPUBISM 'SWeaNS) SB3Je @N0sdl RIMeU By | T
épaziame Ayadord uo payiom

50 vDO e Z0 b0 | oNOvseAD | waD oND seAD | Bwisq seam paqisip pue paperd ‘sadors 1B Ay | L

. 159]0N pue papadN | :pasnbad KiARoY : . A
UOROY 2ARDLI0D ‘s8INSEIN dINE JO §50UDARYYD Julei ajqes|jddy - Aapoy 10900id uoponysuon ais | .

Page 220f 25



SC vO eC 20 1O

POICIS SPINDY YSEIySiesys(ias Jo oal] Sea 8N e
{1£-08 103} :spinby] jo 2621015 JoujelueD JoopIng

SO rO €0 20 1O

¥ND
oNQ ONDO
S3AD S3AD

ZUCHIPUOS W OJ¢ pue Spl) eacy
srauRuod afei0ss ‘eare Jo Buidaams Ap ‘siqeyese
Seudlew [oauoo (ids wawasbeuew ds + S|EBRTW
§o Japsuen ul gers jo Buuren ‘ejgses; usyw episw
PoMOIS S[ENGIEW ‘YSeYSHESISTIDS JO 831) See A e
(oe-0% ou)
:gsjepoiep jo Bupeojun Jo Buipeoy Joaping

SO PO €N 20O LD

¥/INDO
oND oND

saAD s3AD

Loepeas
SEUIeW [QUCO ds ‘edte ROM Pajo0l 10 PO
'SOpSEM pYos o pinbi) pqiyosd o) St teipuNaS
uo pajued suBs ‘uopniod JsjeMmaircs  juaaeld
0} poubisop seaue eoueuajuiEew ‘Jududinbasepiyen
Bupiea] 0} pasn sued dyp ‘OO OPUN PAICIS
wewdimbe gp ‘ysesysyeaysipds jO 69)) BEAIE BN

{zz-0% 1oy
edey pue sdueualuey wawdinba PuE 219(UdA

sC v €0 20 O

YD
oND oND
seAD SaAD

LI YEEM 10 BBIBUTSP JUaABI ) UIBIp ULOSS [0
dew ‘popirid SIDUIUOS yses pauqrio:d ujeipuors
a sefieyostp jey pasod obeubis ‘paew Apeap
eaje Buiysem ‘ops-o Aoe) Buedp [ErMaI0D
18 paueap SAIYIA ‘UsenySHedys||ids Jo 801} SEB BNy  «
{1z-08 Joy)
:Bujueayy wexgBujysem Juawdinbg pue 2i914BA

SC vO0 €0 €0 LD

¥mOo
oND oND
$IA0 SaAD

21000 BUIBURLLISAG 10 JOAD eale
1on) URIpUNOTS puR ‘Jomes ‘icjesedos JDEMAIO 10)
PORqE] SWRIP "ApRaL SIRISIeW JUSQI0SqR [ONU0D IS
'samnpesoid dnuesys + Busny v Buien geis ‘pajEsy
SIMRA KOINYS ‘ysenysweaysipds jo a9l SBAlR 8N e

{oz-25 “soy) :Buniand Juawdinka pue 2DIYdA

:53)0N pue

- papaaN ...ouo<. o}uu«too. ‘sansealy diNE 4O S5URALRRHT

:pannbay
- quiely

siqeopddy

:ANARSY

[seinpascoig dnuee;o pPuE [ORUCH UCRURADID
1ids 10} 4103 995 JWA 1B} yora toj ajou,)
NG PuB HIANAY IS

“aAlpaRa AJoA PUE posh S, dNG

AIessa0ou |1V SO 10 'PAPAIU S.IWE EININNS/ANIONS AISA PUB POSN SJWE 0IUCD S0UNOS = P[] 'BANOBLD AIIRIIPOW DU PISN SANE WS = €N "aIalR
10U 1NG POSN S.JNG BWOS = Z "Alesll Lonnjiod EMUIOS BUR PISN SAWE ON = LD 'PRISH 5,diNE) 59911081 JuoteBousyy 1508 Jo SSBUDARD3NT Jod

ONDO $2A0
OND S2A0
isjuenjiod biwsql "Aepj1el — Xo0)
: . : ejesouan o) oo |- - :Aouenbasgyfipuent .
ISBION PUB POPBUN UORDY BARISLOD | jBUOIEN PRIl S| peojdA) | ensupQ peloys [epEen

Page 23 of 25



T59NS5] 9OULR)GWO-UON JO SjUBWIICD BYIO

V/IND

2 Ouidooms 1of Bunjied
senBas pue Buidoaws Aip ‘pepiaoxd sojoedesss ysen
‘adesspipy  ajgqeauudd-puas Saphioul 1o ‘SeneUns

OND OND | peasd oo Agsenp eboujeip wessd sutesp dojyoo
"S801ABp UOKENU] 10 SHEms ‘sdins pajejefion epniou)
saA0 SaAM | @ poubisep oys ‘ysesysweoysids jOo 09)) SeoIB Ay e
¢0 vy0 €0 20 LD {ei-0s ‘10y) oouruRlIRy eory oBeioig/Bunied
YD ¢buidaams Aip senBen 'sieuaew Buves
qRIA00) 'SOUBUBTUIRL 10 S{EMWLALD AIX}-UOU SN
oNO ONI | raiqeqeae sieusiew pue Buiuien ([ORU0S [(ds “ucnen)
UBIPULIOTS Yt SUoR m:_:ﬁg Aue .Qu:ﬂ:@u:_g 0}
saAl S8AD | pesn swyop dop ‘ysegsyesysds Jo 84l SEAIE QY o
SO v0O €0 20 LO (1¢-05 you} Soueuzuien Spunce pue Buping
~uonueasid
VIND | jpgs w poures yie1s SPOWSW ueWUIEI0d AJBpuUO0S
‘PAOTS SlepAlEwW S1sem snopiezey ou 'Auenba idavs
ONG OND | Aip sease ‘pazygn ssowsues Bupsion 'uayipuod pood
ul suauRUcD sBeiols 's:osdwinD paseadd Ul paoed
NG SaAD | pue pepsiiod ysen ‘ysewysyesysyids jo eer) seaie oy o
SC v0O £0 20 LG {re-0s "12y) :lesedsig pue BujipueH oi1sem
¥/NDO
Jrase afes0)e QINDAS L) WP "SPI| YR uohipuod
oND SN | pooB u) ssouieiuoo B5RIOIS ‘PISOIOUR JO JBAD POION
*PaIBACO SBALE SPIHOCIS SPISING 'SKISEa) U3UM 3pisu)
SaAD 8940 | posois siepatew ‘ysenyseaysqds jo 99 seale oy e
S PE €0 20 L0 (e£-0s "Joy) SjeualeW mey jo abeiols soopIno
S WBIpICES
VND | 15 Bugaqe ‘papirosd sioureiuco ysen 'jo0! PeawIand
10 JaADD 'QIND 10 WDG USROS  AIRpUCDIS
OND OND | ‘oiqepese  spumew  joguos  ids  ‘juawoBeurw
lds w1 yeys Bujuien ‘ysesysieaysinds jo soy see Ay«
$3A0) S3aAD {ze-0s ‘Jay) DoURUANEN
SC v0O €C 20 10 pue suopesdg wewdinby ssasosd J00PIN0D
YINDG
£GIND 10 WG WSWNIBIC) ASBpUSds 'uoiipucd
ONDO ONDO | pooB w e1e pue Spi| oaey S18UEjUCS afeI0ls ‘aiqEfeAe
sleualew oruos fids juswabeuew pos + SPNbY
SOAD $OAM | 0 sojsuen w yers jo Bunen ‘eqrses) vaum episul
(soinpacoag dnuea|) pue [oQuoD ‘UOPUDIADIG
:8ajoN pue | ;palinbay Rapoy ___._w 10} 11-08 995 JNE fe2idAy yaee Jo) Brou,)
- _popoeN ..o_—o( o>=oa._._oo 's2INSEd JINE JO SSIUBANOINT Julely | 2Keaddy W8 puR AIANDY alig

Page 24 of 25



8AOGE PAQUISOP 10U SOUBIILIOS-UOU JO SIUBPIIU) SO SIUBLALIOD PUB UOREWLOJU X0 BOHY

1SAON pue
vuvooz UOPOY 2ARSINIOD 'saINseS JINE JO S50UDANDYT

:paainbay

Jue

) .9_>=o<

qenddy

(saanpasosd dnuea|) pur [oQUOD ‘UojjudAdld

. ___._m E }1-0S 095 dS reoidA3 Yoo so0) imou,)

~dWE PUE AINDY 8jig

Page 25 of 25



	1 Addendum 2 clarifications, 24-Oct-2019 final
	2 Manufacturer's Info Packet
	3 BID Form R1
	4 License Agreement 2017-11-01

